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Which of the following are considered as key behaviours of effective teaching as evident

from
a)
b)
)
d)
e)
f)

— — — p— — —

researches ?

Structuring through comments made for organizing what is to come.

Asking process or content based questions.

Lesson clarity implying the extent, to which teacher’s presentation is clear to the class.
Using student ideas and contributions while the teacher is presenting the subject.
Instructional variety involving teacher’s variability and flexibility during presentation.

Student success rate implying the rate at which students understand and correctly
complete the exercises.

Code :

Options

21594253401,

(a), (b) and (c)

91394353402, (¢), (e) and (f)

2153942534035,

91334553404,

(b), (c) and (d)

(a), (c) and (f)
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(b), (c) 3R (d)

91334553403,

(a), (c) 3R (f)

91334553404,
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Below are given the characteristic features of formative and summative assessment procedures
used in various teaching-learning contexts.

c 1S US . ing lec ing ste dl'tl.
a) ltis used for judging learning standard

b) It is used for improvement of capacity and quality.

(
(
(c) Its use is extended to performance appraisal of teachers, students and institutions.
(d) Itis used during instruction.

(e) Assessment is formal and post instructional in nature.

(f)  Itis based on participation of both teacher and student.

Which of the given codes relate to formative procedures ?
Code :
Options:

(a), (b) and (c)

91334553405,

(b), (c) and (d)

91394353406,
91394353407, (a), (c) and (e)

(b), (d) and (f)

91394553408,
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(a), (b) 3T (c)
3R (d)

91334553405,

91394353406, (b), ()

(a), (c) 3T (e)

91334353407,

(b), (d) 3R (f)

91234553408,
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In the two sets given below, Set-I embodies the domain of “teaching competencies” while
Set-1I provides the specific competencies which make a teacher effective. Match the two

sets and select appropriate code.

Set-1

(Domain of teaching competencies)

(a) Personality and attitude related

competencies
(b) Behavioural competencies
(c) Substantive competencies

(d) Style related competencies

Code :
(a) (b) () (d)

Options:

. . ~—
B
e

=

— — — —
. .

Set-I1
(Specific competencies)

Dynamism and flexibility

Subject and general knowledge
Good physique and appearance
Self efficacy and locus of control

Teaching and managing
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91394353410
91394353411, () () (iv) (V)

(i) (1) () (v)

91394553412,
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In which of the modalities of teaching-learning arrangements there is more scope for critical
and creative interchange ?



Options:

'l'raining Se$s10N
91394353413,

Conditionineg to promote sensitiviby
91394353414 LR by

Instructional presentations involving scope for information processing
91394353415 “’ &

Dialoeic presentations involvine teachers, students and the content
91394353416 o O
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Which of the following specify the factors affecting teaching. For your answer select from
the code given below :

(a)  Availability of teaching aids and their use

(b)  School-community linkages

(c) Interest of parents in the school programmes

(d) Subject-knowledge of the teacher

(e) Frequency of organizing co-curricular activities

(f)  Verbal and non-verbal communication skills of the teacher
Code :

Options:

91394353417 (d), (e) and (f)

(@), (d) and (f)

2915334253415,



(a), (b) and (c)

913345534145,

(b), (c) and (e)

91334553420.
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91394353417, () (€) TAT(£)

a1394353413, (@) (d) T (f)

(), (b) T (c)

91334553419,

(b), (c) I (e)

215394253420,
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In the two sets given below, Set-I embodies the list of research types while Set-II provides
their nature and characteristics. Match the two sets and give vour answer from the code

which follows :
Set-1
(Research types)

(a) Experimental research (1)
(b)  Exports facts research (ii)
(c) Participant observation (iii)

based research

(d) Grounded theory approach (iv)
based research

Code :
(a) (b) (o) (d)

91394%53421. (1) (@) (i) ()

sissasssss ) @) (@) (¥)

91394353423, (i) (i) (iv) (i)

91334553424,

Set-1I1
(Nature and characteristics)

Generalizations follow rather than precede the
observations in due course

Emphasizing the access to reality by sharing
the perspectives of people

Getting at causal facts by retrospective
analysis

Describing the status and conditions as
obtainable

Controlling the extraneous variables and
observing the effect of independent variable
manipulated by the researcher on dependent
variable

Question Number : 6 Question Id : 91394313593 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
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Which of the following implies the correct sequence in an action research paradigm ?

Options:

91334553425,

B1334553426.

91334553427,

91334553428,

Act, reflect, plan and observe
Observe, reflect, plan and act
Plan, act, observe and reflect

Reflect, act, observe and plan
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91334553427,

91394353428, I, =, <@l 3R TS SIS
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Correct Marks: 2 Wrong Marks: O
The issue of research ethics is pertinent at which of the following stages of research ?

Options:

et e S b %
1504353409 LdeNtification, definition and delimitation of research problem

1304355450, Defining the population, sampling procedures and techniques

- -.‘ P e ] - - :.-L-'l-. - } & o ‘. l-. - = = L-rl- I--- |_‘
130455245, LAta collection, data analysis and reporting of research findings/results

91394353435, Deciding the quantitative or qualitative tracks or both for pursuing the research problem
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In which of the following, target related specifications will be considered necessary ?
Options:

Seminars
91394353433,

Conferences
91394353434,

YV IMPOSI
91394353435, Symposium

f 5 NG
41394353438, Workshops
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Options:

91394353433, m (étﬂ_rlﬂ)
T

9153342534354,

gt (faeafsam)

91334553435,

913345534356,
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In which of the following research methods the emphasis is laid on naturalistic settings and
meaning-giving processes ?

Options:

Experimental method
91394353437,

speansteage DX post facto methiod

Case studv method
91394353439 .
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Read the following passage carefully and answer question numbers from 11 to 15 :

It is easy to see that there is nothing particularly unusual, or especially contrary to
reason, for a person to choose to pursue a goal that is not exclusively confined to his or her
own self-interest. As Adam Smith noted, we do have many different motivations, taking us
well beyond the single-minded pursuit of our interest. There is nothing contrary to reason in
our willingness to do things that are not entirely self-serving. Some of these motivations, like
‘humanity, justice, generosity and public spirit’, may even be very productive for society, as
Smith noted. There tends to be, however, more resistance to accepting the possibility that
people may have good reasons even to go beyond the pursuit of their own goals. The argument
runs : if you are consciously not pursuing what you think are your goals, then clearly those
cannot be your goals. Indeed, many authors have taken the view that the claim that one can
have reason not to be confined to the pursuit of one’s goals is ‘nonsensical” since even strongly
heterogeneous or altruistic agents cannot pursue other people’s goals without making their
own. The point here is that in denying that rationality demands that you must act
single-mindedly according to your own goals. You do not necessarily dedicate yourself to
the promotion of others. We can reason our way towards following decent rules of behaviour
that we see being fair to others as well. This can restrain the unique dominance of single-
minded pursuit of our own goals. There is nothing particularly mysterious about our respect
for sensible rules of conduct. This can qualify the pursuit of what we rightly - and reasonably-
see as goals that we would in general like to advance. What we can say about vour choice ?
There is no difficulty in understanding that you are not averse to helping your neighbour- or
anyone else- pursue his or her well-being. But it so happens that you do not think that your
neighbour’s well-being is, in fact, best advanced by his wasting time on playing a silly game.
Your action is not corollary of any general pursuit of well-being.

Sub questions

Question Number : 11 Question Id : 91394313599 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The observation of Adam Smith in going beyond self-serving interest is :
Options:

3 ¥
) L" ‘, T I'_T_'I ._‘
91394353441, Having one’s own goals

rtivations like justic bublic spiri
o150435344, MoOlivations like justice and public spirit

Issues contrary to reasons.
91334553443, "

. e A 3 —
915394553444 Willingness to do different things
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In the view of many authors, not pursuing one’s own goal is :

Options:



Nonsensical
91394353445,

Natural
91394353446,

Altruistic
91394353447

Rational
91394353448,
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According to the passage, decent rules of behaviour are needed :
Options:
1394353440 DeCause of self-imposed restraints

To be rational
91394353450,

For being fair to others
91394353451,

Due to dominance of our own eoals
91394353452, o r et -
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What can stand in the way of single-minded pursuit of one’s goals ?
Options:

Givine priority to our own goals
91394353453, 6P ty B

Compulsion to consider the goals of others
91394353454,

|.1 - } ._1 l1. B L-. ] = ," 5
91394353455, Respect for sensible rules of conduct

2 g - r = . _ :
D 8
130435345 L ursuit of paradoxical parameters
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The moral derived from the passage is :



Options:

Pro-active move to support others
91394353457

Not to think of our neighbour
91394353458,

Force people to take on the other people’s goals as their own
91394353459,

Assist your neighbours to engage in any activity of their choice
91394353460 ‘ 7 A
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Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 91394313604 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T'o communicate effectively with students, teachers should use :
(a) Affinity-seeking strategies

(b) Immediacy behaviours

(c) Humour

(d) Collaborative filters

Choose most appropriate code :

Options:



(a) and (b) only

91394553461,

(a), (¢) and (d)

91334553462,

91394353463, (a) and (d) only

b) and (c)

stsusssin @ |

Question Number : 16 Question Id : 91394313604 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

BT & TG YTet 7 H Y & foAu f1eqeni &1 fmdeh 3R &A1 =17eu 2
(a) TAeRcars TomiIfaET

(b)  dIchlicTsh Fa8R

(c) TURE™

(d) wfagm-snafia satEr

= fou 70 F2 § 9 3191 IW AU

Options:

FAA (a) AR (b)

91334553461,

@), (c) 3R (d)

91334553462,

FAA (a) AR (d)

91334553463,

(a), (b) ¥R (c)

91334553464,

Question Number : 17 Question Id : 91394313605 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Internal cues of non-verbal behaviour in the classroom help diagnose :
Options:

- 13 -:I L-. -.’ - T - = --.L-.
a15043s34es INtET-personal dynamics

ST P
T —— ‘::[Latla[ prn:.‘:xundtn:m



Mass beliefs
91394353467.

Student movement
91394253468,

Question Number : 17 Question Id : 91394313605 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Fel T SAVfeaeh sAaeR & 3Tidieh Hahdsh fhdeh e H Heddl od ¢ 7

Options:

91394353465
91394353466, Tk HHT
150455540, ST ATETST qrdrg
91394353468, OV RIS

Question Number : 18 Question Id : 91394313606 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Assertion (A) : Classroom communication behaviours imply making the contents relevant.

Reason (R) : [t is none of the functions of teachers to make students organise information
for effective interaction.
Code :
Options:
1394353450 DOt (A) and (R) are true.
Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91394353470
A) is true, but (R) is false.
91394353471, (A) ’ (R) is fe
A) is false, but (R) is true.
51394353470, (A) 18 false, (R)

Question Number : 18 Question Id : 91394313606 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



ATURIT (A): oo 1 wrEfie 9 FHemTg gere SAder § ffed g1

T (R) 71g forershi o1 yard el € fob 9 faenfo=i gra wure oA foran =61 gfte | 3= =
T HEm |

<

Options:

(A) 3R (R) SHT 9&l € |
(A) 3R (R) THT & €, oIl (R), (A) &1 Tel ST T2 € |

91334553469,

915334253470,

(A) T, AR (R) T €|
(A) TR €, IR (R) T T

91334353471
91334553472

Question Number : 19 Question Id : 91394313607 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Communication variables involved in a model of performance are :

(a) Encoding

(b) Decoding

(c) Passive resistance
(d) Channelisation
(e) Indifference

Select the correct option from the code given below :

Options:

(a), (b), (c) and (e) only

9153342534735,

b), (¢), (d) and (e) only

215394253474, (

(a), (c) and (d) only

2915334253475,

1504353476 (@), (b) and (d) only

Question Number : 19 Question Id : 91394313607 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



ot froares wfaam & it Temo =2 3 €
(a) e HohaH

(b) fadeda

(c) Tafeska gfcwy
( :

(

d) HIU
e) IR
== feu U 2 § 9 W@ I k1 g

s (a), (b), (o) 3 (o)

91334553473,

He (b), (c), (d) 3R (e)

291594253474,

FIA (a), (c) 3R (d)

91334553475,

FFA (a), (b) 3 (d)

91334553476,

Question Number : 20 Question Id : 91394313608 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
In pre-learning preparation, an important stage of communication is :

Options:

- Information acquisition and its processing
130435347 LCONISAtION of encoder

T~ lenoring semantic noise

NO——— Conditioned feedback

Question Number : 20 Question Id : 91394313608 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Afe-gd A T T T Hee o w1 ©

Options:



AT SASH LT SHHT h AT

91334553477,

91394352478, %—é W <l ﬂ h{
319 fauaes sopedl % ufd 39em

91334553475,

B1334553480. i Hd . g

Question Number : 21 Question Id : 91394313609 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
In the sequence of numbers 1, 2, 6, 33, 49, 174, 210, x, . . . . .. , the term x 1s :
Options:

444

91334553451,
91334553452,
91334553453,

H91334553484.

Question Number : 21 Question Id : 91394313609 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
q&A 3ITFH 1, 2, 6, 33,49, 174, 210, x, . . . . .. VU H& x FTHA E

Options:

444

91334553451,

5]
[
2

H1334553482.

510

9153342534835,

91334553454,

Question Number : 22 Question Id : 91394313610 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



If FH—é:'l and S+%=’l, then RxSxT=

Options:

— 1
91394353485,

-2

B1334553486.
91334553457,

2912334553488,

Question Number : 22 Question Id : 91394313610 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

e R %z'l LR 5+%=1 2, 9 RxSxT=

Options:

91334553485,

I~J

91334553486,

91334553457,

B91334553488.

Question Number : 23 Question Id : 91394313611 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A woman introduces a man as the son of the brother of her mother. How is the man related
to the woman ?

Options:

91394353450, UNClE

Grandson
91394353490,

Son
91394353491



Cousin
91394353492,

Question Number : 23 Question Id : 91394313611 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
e Hiea fRHl I&Y 1 9R=3 < U Fedl © (oh 9 S9a! HIdl & Y8 & 93 ¢ | 39 Hiee &1 759 9
o fwar &2

Options:

H1334553489.

[

91334553430,

91334553491, 1<l

E ”
2915334253452, T"g

Question Number : 24 Question Id : 91394313612 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Before death a man left the following instructions for his fortune : half to his wife; 7 of what

7

was left to his son; = of what was left to his daughter; the man’s pet dog got the remaining

3

< 20000. How much money did the man leave behind altogether ?

Options:

91394353493 X 140000

< 100000
91394353494,

s1394353495 < £0000

91394353496 < /0000

Question Number : 24 Question Id : 91394313612 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Y] & Jd Ueh SAfe 701 Hufd & 9 H fe=fafed Sew Sremwan ;. {9+ Il sl 37191, 9= 99 6
;wméﬁﬁw;aﬁﬁmm%Méﬁﬁw;mﬁa?ﬁwﬁ%%@ﬁ@mnmm
31| SAfe F fohaHl gt St T4 912

Options:

N— el

< 100000

913345534394,

H91334553455. < 40000

< 70000

2915334253456,

Question Number : 25 Question Id : 91394313613 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
If 7, 13, 2, 14, 6 1s to flame, then 3, 13, 16, 2, 21 is to :
Options:
F oo
)
91394353497, ¥ 01C€

Blade
91394353498,

Bloat
91394353499,

¥
291334553500, Blown

Question Number : 25 Question Id : 91394313613 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gfe 7,13, 2, 14, 6 ol Flame @l SME, @1 3, 13, 16, 2, 21 hi AT @l ST 2
Options:

Q1=394=25=2497 VUIEE

Blade
91394353498,

Bloat
91394353499,



Blown
91394353500,

Question Number : 26 Question Id : 91394313614 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
‘Every law is an evil, for every law is an infraction of liberty’.

The above is :
Options:

An argument
91394353501

An explanation of facts
91394353502,

A justification of beliefs
91394353503,

A proposition of facts
91394353504,

Question Number : 26 Question Id : 91394313614 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
‘U HA T JUE ¢, Hifh Yedeh T Tdsdl &l Seaidd &

ST € :

Options:

Tk AT

291394253501

91334553502, 'ﬁ?}ﬁ aﬁ

91334553503, T <l a

AT T T

91334553504

Question Number : 27 Question Id : 91394313615 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Among the following propositions (a, b, ¢ and d) two are related in such a way that both of
them together cannot be false although they may both be true. Select the code that states
those two propositions.

(a) All students are intelligent.
(b) Some students are intelligent.
(c) No students are intelligent.

(d) Some students are not intelligent.

Code :
Options:

(a) and (b)

2915394253505,

(b) and (c)

91334553506,

(c) and (d)

91334553507,

(b) and (d)

2915334253508,

Question Number : 27 Question Id : 91394313615 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
AMTHL (a, b, ¢ A d) H F < Ao 30 YR Feifed € f 331 9 1 wF g F+f Ted 76 2
Hehd FaAfd Tk 1Y S H &1 Hehd & | 37 S SATHRYA] Rl S aTel el e o1 999 Rl |

(a) Gt foeneff gigwH 2 €1
b) F et gfgam 2 €
(c) E ot faenefl gfgmm =& 2 |
(d) F= fomnefl giguH & 2 € |

Options:

(a) S (b)

91334553505,

(b) 3R (c)

B91334553506.

(c) 3R (d)

913345353507,



(b) 3R (d)

91334553508,

Question Number : 28 Question Id : 91394313616 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are an Assertion (A) and a Reason (R). Consider them and select the correct
code given below :

Assertion (A) : Honesty is a great virtue.

Reason (R) : Honesty does not harm anybody.

Code :
Options:
01594355500 Both (A) and (R) are true and (R) is the correct explanation of (A).

o1504353510, DO (A) and (R) are true, but (R) is not the correct explanation of (A).

9159435351 1 (A) is true and (R) is false.

(R) is true and (A) is false.
91394353512,

Question Number : 28 Question Id : 91394313616 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

FrAfafEa afused (A) 991 9 (R) R =R Fifv 3R = [l ™ 2 9 928 3 9
ATUHST (A) :  SHMGRI UH 921 U & |

T (R) : SHFER 9 Tt =1 =1 121 2 |

h<

Options:

s1394353500. (A) R (R) AT Tl € 3R (R), (A) 1 T AT € |

(A) 3R (R) F1 9&l €, 9 (R), (A) T Tl =A% 76l 2 |

91334553510,

91304353511, (D) T 7 3R (R) TTerd 2
(R) 921 € 31 (A) Terd 2|

9133455351 %2

Question Number : 29 Question Id : 91394313617 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



When the conclusion of an argument follows from its premises necessarily, the argument is
called :
Options:

Circular argument
91394353513,

Analoeical arcument
91394353514, -

- . - o8
O — Inductive cug)ument

Deductive ar oument
91394353516,

Question Number : 29 Question Id : 91394313617 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

9 1 TRy Tl AR 99 & 9 9§ 3ifHard; fFeaddr 8, 9 98 Fead @

Options:

91394353513, 20l AP

91394353514, H@YALLIS den

T r
91334553515, SIHAIHS q<

- ¢
4
91394353516, [HHAIH=h deh

Question Number : 30 Question Id : 91394313618 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Given below are two premises (i) and (ii). Four conclusions are drawn from them (taking
singly or together).
Premises : (i)  Some prisoners are dacoits.
(i) Some dacoits are murderers.
Conclusions :
a) Some prisoners are murderers.
) All prisoners are murderers.
c) Some dacoits are prisoners.
(d) Some murderers are dacoits.
Select the code that states the validly drawn conclusions :
Code :
Options:



91394353517 Only (a) and (d)

Only (b) and (c)

H91334553518.

Only (c) and (d)

91334553519,

Only (b) and (d)

91334553520,

Question Number : 30 Question Id : 91394313618 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
= 2 SHR FA (i) 3R (i) TRU T & | 37 < seR e § =R frewd e T € (ST A S
®IH) |
WM AT : () FOhal SH AL
(i) T F TAN B ¢ |

R

T Hal TAR B B |

T Hdl T A 2

c) FTO T FAI BT

d) FSTENLSFAALI

IH e H =TI HL S FTI0eR w9 H e T R 6 g §
<

Options:

91394353517, Fd () 3 (d)

Fad (b) 3R (c)
FIA (c) R (d)

H91334553518.

291594253519,

91394353520, FHA (b) 3R (d)

Sub-Section Number: 4
Sub-Section 1d: 913943687
Question Shuffling Allowed : Yes

Question Id : 91394313619 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No



Question Numbers: (31 to 35)
Juestion Label - Comprehension

The following table indicates the percentage of students enrolled in various faculties of a
University. The total number of students in the University is 12000, out of which 52% are
males and remaining are females.

Based on the table, answer the questions that follow (Questions 31-35) :

Percentage of students facultywise
Name of the Faculty Percentage (%) of Students
Science 17%
Education 30%
Engineering 8%
Performing Arts 26%
Social Sciences 19%
Sub questions

Question Number : 31 Question Id : 91394313620 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The number of male students exceeding female students is :

Options:

1400

2913394253521,

4380

91334553522,

1680

215394253525,

800
91394353524,

Question Number : 32 Question Id : 91394313621 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Approximately, how many female students are there in the faculty of Performing Arts if the
proportion of males and females is the same for this faculty as for the whole University ?

Options:

2560
91394353525,

1610
91394353526,



14C
91334553527, 1498

2678
91394353528,

Question Number : 33 Question Id : 91394313622 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
If half of the students from the faculty of Education and all of the students from the faculty
of Social Sciences are females, then the number of female students in the three remaining

faculties altogether will be :

Options:

1240
91394353529

1680
91394353530,

960
91394353531

840
91394353532,

Question Number : 34 Question Id : 91394313623 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Supposing, the number available in the faculty of Engineering doubles keeping the total
number in the University to be the same by reducing the student numbers in faculty of
Performing Arts and faculty of Education equally, the number of students available in the
faculty of Education will be :

Options:

91394353533,

91394353534,

2680
91394353535,

2960
91394353536,

Question Number : 35 Question Id : 91394313624 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The difference in the number of students enrolled in the faculty of Science as compared to
the number of students enrolled in the faculty of Engineering, is :

Options:



1180
91394353537,

"') /
91334553528, 2040

960
91394353539

1080
91394353540,

Question Id : 91394313619 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Cesticn Label | Comprehension

fre=fafaa aifeer § fod favafaareaa 8§ ggrd Si1 am fafy= fawei 4 miferd fa=nfd=i =1 gfqea
e e © 1 Tavafamrera § faenfeli 1 e @@ 12000 ©, 378 9 52% g5 qe1 39 Afgemd € |
39 dlfcial o ATYR T, F=feiad (999 31-35 ) &1 3 gifad :

fawg-ar faenfd=i =1 afaem
T =1 W Terenferi =61 ufaee (%)
fasm 17%
foren 30%
EElERR 8%
T el 26 %
S faam 19%
Sub questions

Question Number : 31 Question Id : 91394313620 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
forvaferamera | nfgen fonfof=i 1 s1ien qeu faenfei=i %1 den faad sifus g2
Options:

1400

2915334253521,

480
91394353522,

1680

2915334253525,

800
91394353524



Question Number : 32 Question Id : 91394313621 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

favafaerea # wevH Fen fawa # afeen faenfe=i =t gen T fea € afe 33 fava § == g
e g fante=i &1 Sud JurE @l ?

Options:

2560
91394353525

1610
91394353526,

1498
91394353527,

2678
91394353528

Question Number : 33 Question Id : 91394313622 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

afe foen faum & =19 faenef qen wrofse faam faua & v famnedf ufeemd 21 1 99 &= fooai o
F et Aieen foaneff €2

Options:

1240
B1334553529. 124(

680

913345353530,

960
91394353531

o040

9133942535352,

Question Number : 34 Question Id : 91394313623 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ey Tk gonfaadr fawg o faanferi =1 S g &1 9 & a9 Wei won qun fen fawat o
T He& o faenfdi w1 9e § Ferdl wid gy favafaened & faenfdi 1 Fa Sen suiatda
TEdl &, o foven oo # faenfefdi 1 Sue=y §em 2 -

Options:

3125
91394353535

3120
91394353534,



2680
91394353535,

2960
91394353536

Question Number : 35 Question Id : 91394313624 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Felifradl fawg ¥ Amifea faenfe=i =t Sen =1 gormn § fagm fawa § amifea fanfeai « den |
TMWE:

Options:
1180
91394353537,
2040
21394253538,
960
91394353539,
1080
291394253540, 108(
Sub-Section Number: 5
Sub-Section Id: 913943688
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 91394313625 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following pairs least matches in respect of computers ?

Options:

a1394353541. 1 Megabyte : (1024) X (1024) X (8) Bits

—— HTTPS : Hypertext Transfer Protocol Standard
WWW : World Wide Web

91394353543,

41394353544, PDF : Portable Document Format

Question Number : 36 Question Id : 91394313625 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Frefafiad § | SFE-91 0 Fr2e & a4 § reqay &9 § Hel @l € 2

Options:

spstAEEGE HITaEe ; (1024) x (1024) x (8) IHE_\H

EAANTE. TRULCHZ ZHL Ueihic] ©2g

91334553542,

sisssE T R R, goe 9Ee Jd
1.1 TF. . Uidad SR wie

291594253544,

Question Number : 37 Question Id : 91394313626 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which piece of the computer hardware is known as the “brain” of the computer and is
responsible for processing instructions ?

Options:

CPU
91394353545,

srsaanasay N therboard

ROM

2915334253547,

RAM

91334553548,

Question Number : 37 Question Id : 91394313626 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

FI BEAT o TohT I 1 T & ' HiEqsh ' o 1 & 1 ST © 3T STe9 1 HHIed &
% foru Saeerd 272

Options:

Hi.41.7,

21594253545,

L&

91334553546,

3. 3.1y,

91334553547,

91334553548, \?HT{‘Q'Q:]:[



Question Number : 38 Question Id : 91394313627 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which option would complete the following sentences about digital communication system
by using the words - short/long, low/high ?

Bluetooth is a range wireless technology. It is used to connect devices together
for data transfer. Bluetooth is a cost means of data transfer.
Options:

lone, low
91394353549, © O -

short, low
91394353550,

)] 8 LA 1o
91394353551, [L Ilb, hln-h

short, high
91394353552,
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[ 1 fased fefed S=R yome % o | fefated s §-ag)/ @6, 74/ 359-7% W1 3%
T HEM ?

=2Y TH IS ATl AR R €1 39 Sfikel & {0 § IURl] &l Tk |y
Sired & foru 3w fofan S €1 sy siishel o ST =l AT ATl T HIEE ©
Options:

T, T

2915334253549,

91334553550, 3‘

AT, 3=

291594253551,

oy, 3=
91394353552

Question Number : 39 Question Id : 91394313628 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Computer data files that are included with an email message are often referred to as :
Options:

“arbon copy
91394353553, Carbon copy



Attachments
91394353554,

Spam mails
91394353555,

Cookies
91394353556,

Question Number : 39 Question Id : 91394313628 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
A G291 F 91 FiAfAT 1 T4 Sl FPe Yo WEdl H (69 9 o Hefia fHan s €2

Options:

b 7

91334553553,

3TeTH=2Y

91334553554, =

91394353555, EE“{ ”EH
91394353556, ﬁ S
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Read the following spreadsheet (MS-EXCEL) :

EXCEL Spreadsheet

A B C
10 16

2 20

3 8

4 12

5 0

The equation in cell B2is = A2+$B $ 1.

The equation is then copied and pasted to cells B3, B4 and B5. What should be the value in
B3 ?
Options:

36
91394353557,

24
91394353558



44

913345535545,

D6
91394353560,
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fr=fafaa Sesie (1™, -Ted) =i qfen :

T Seie

A B i
10 16
20
8
12
5 0

Tl B2 o1 FHIFT & =A2+$ B $ 1.

THF o1g 39 HHIEHIOT ] 4l T ST & 37X B3, B4 3T B5 H U2 o fear a1 1 B3 o1 9H =01
A =Ry ?

Options:

=l =

91394353557,

91394353558,

91334553559, 44

56

21594253560,
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Correct Marks: 2 Wrong Marks: 0
T'he two major processes involved in the carbon cycle are :
Options:

Deposition and erosion
91394353561

vatorabon : anspirabtio
— Evaporation and transpiration

Photosynthesis and respiration
91394353563, ’



41394353564 Fixation and denitrification
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T = 1 FreAeEd § G B S T wh e $2

Options:

39S oh1 STHT Bl

91334553561,

TSRO 9T e

9153394253562,

YRTI] GYeTHo del 99+

91334553563,

IEEGREGEINCRIEHMETY

2915334253564,
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Human populations have historically settled in flood plains due to which of the following
o .7
reasons

(a) Flood plains are close to rivers for transportation.
(b)  The soils in the flood plains are usually fertile.

(c)  The terrain in flood plains is found as flat.

Select the correct answer from the code given below :
Options:

(a) only
91394353565, '

(a) and (b) only

91334553566,

(b) and (c) only

H1334553567.

(a), (b) and (c)

91334553568,
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UfoRtaes gfte | Are §Yed a1¢ sertad & § freifea § 9 fa s 9 senfad g €7
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(b) @M€ AT &= | fHgt "= 36 2l ¢ |
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Had (a)
Fad (a) A (b)

91334553565,

91334553566,

F9d (b) 3R ()

91334553567,

(@), (b) R (c)

H91334553568.
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Which of the following methods would be most appropriate in reducing acid rain and acid

deposition problems ?

Options:

Adding lime to the acidic lakes
91394353569,

CIng, se of fossi 5
91394353570 Reducing the use of fossil fuels

2 1 AT 1o - ,
)] MLO b -reslt pe
1504355571 L rOMOtion of acid-resistant crops

Increasing the height of smokestacks
91394353572, 3 #
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37T N AU v ST Geft guwei § wH o & ford e 9 Fe-d fafy geifus sogea 22
Options:
HEAY Sicdl § A1 STefl

H1334553569.

SIaTed S99 & SYAM H FH1 Al

2915334253570,



O 3TA- U el 3T ohl F@al <1

Y faw 1 =R e

91334553572,
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Assertion (A) : Mapping of landslide prone areas and construction of houses, felling of

trees and grazing in landslide prone areas should be prohibited.

Reason (R) : Afforestation in the vulnerable areas is an effective way of durable landslides
control.

Choose the correct code :
Options:

01394353573 DOth (A) and (R) are correct and (R) is the correct explanation of (A).

Both (A) and (R) are correct, but (R) is not the correct explanation of (A).
91394353574,

9159435357 (A) is true and (R) is false.

91594553576 (A) is false and (R) is true.
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ATUHLT (A) : Y- - Y &5 & Tafgd 63 S a1 7o 9@ 9I[, U2 %1 91 @
YEGAT-Y &0 H I3 1 = S S giquy fea S e |

& (R): srfera &l ® = Tqw feamrss y-wger s 3o 2

W g
o (A) 3R (R) TAI 9@l g 3R (R), (A) &I 9& RS € |

2153942535735,

(A) 3R (R) TFI TE g, AT (R), (A) T T =AW= 6l ¢ |

91334553574,

(A) F&l g, &feh (R) 7Toid ¢ |

215394253575,

91394353576, (A) eI €, ifehd (R) W&l 2
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Which of the following best describes the mechanism of the greenhouse effect in earth’s
atmosphere ?
Options:

" OSMIC 1atio ) space 1s absorb 7 oases 1 ; ISP :
1504553577 Cosmic radiation from the space is absorbed by gases in the atmosphere

——_ Ultraviolet radiation from the sun is absorbed by Ozone layer in the stratosphere.

e Infrared radiation from earth’s surface is absorbed by gases in the atmosphere.

Gamma radiation from the sun is absorbed at ground level by dust particles in the
Sigisesssy atmosphere,
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fefaiad § 9 sF Yeat & agHed § HH-21=39 99E &1 Tharfafs s qaiiee Suge e § T
g7

Options:

JMH Y AHET e fafeor =1 agHed S T STaefd Sl € |

91394553577,

g4 g M F1el G- fafhor S SeaqHed | SATSF SEid S ¢ |

91394353578,

Yol i Tag 9 fatad fafeo &1 agred § 19 e Hdl ¢ |

H91334553579.

91394353580, @@WWWWﬁWﬁ%WHﬁEﬁTﬁWQ ST ol € |
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Correct Marks: 2 Wrong Marks: 0
For pursuing a Ph.D. programme through our University system, what has become a
mandatary provision now ?

Options:

Enrolment for Ph.D.
913943253581

COUrs rork
91334553582, Course work

_\T ‘I -] |.1 " 7 € ; % " T l‘
150435355 cOMpulsory attendance for three years

Guidance from a supervisor outside the University
91394253584, J
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TN favafaanre Qe o "9 § WU Sl FREE & AT & fau 379 HH-91 Th e

YA & 71 8 ?
Options:

91394353581, g g & o gsiem
91304353552, TG0 JIST F1
= 99 deh 1A Suffa

91334553583,

01594355504 [TLATETTT H H@Y 6 Y&k H AEICYH
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Correct Marks: 2 Wrong Marks: 0
In the following two sets, Set-I mentions an apex level institution in India while Set-II indicates
their formal concerns. Match the two sets and give your answer from the code.

Set-1 Set-11
(Apex level Institution) (Formal concerns)

(a) University Grants Commission (i)  Adjudication of legal matters in education

(b)  All India Council of (i) Coordination, recognition and quality issues
Technical Education related to teacher education institutions

(c) National Council of (iii) Coordination and quality maintenance in
Teacher Education institutions of higher education

(d) National Assessment and (iv) Recognition and quality issues in technical
Accreditation Council institutions

(v) Evaluation of quality and determining grade
of excellence

Code :
(a) (b) (o) (d)

Options:

91304353585, (D) (V) (i) (V)
0 @) () (iv)
(v) (v) (i) (i)
) @i (1 ()

91334553586,

215394253587,

91334553588,
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frefafad <1 ag==4i § aqeea-1 H§ 9N &1 ¥ wHg 951 #1 3ed ¢, e agead-1l |
Ik ATEIE THRI F1 TG 621 T T 2 SH G=aAl ®1 GHfAd Fited 3R Fe H H
I I
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( e T He ) ( SFraenties JTeRT )
(a) Torvafammer seE s (i) Teren o faferss ammet 0 sAfafToRE
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T[OTe o Y
(c) U=TA sreaTde foen uftug (iti) 3=9 Tonen Heensli 4 Wo=rg a1 YorE] STET

(d) TS GeAiEA a9l GAEE URUE. (iv)  dehreh] SR | Ol SR orEl % HHe
(v)  TOTEI S JedishA a9 Sehtedl & U 1 HER

(a) (b) (c) (d)
Options:
—— T B
91394353586, () (i) (i) (iv)

2915334253587, (V) (IV) (I.LI'.) (LI'.)

91394353588, (i) (i) (1) (iv)
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Below are given two sets- Set-I provides stages of value development while Set-1II indicates
their critical features from the point of view of value education. Match the two sets and
choose your answer from the code :

Set-1 Set-11

(Stages of value development) (Critical features in terms of value education)
(a) Value collection (i) Providing opportunity for imitation
(b)  Value assessment (i) Characterization through integration of values
(c)  Value clarification (iii) Providing hints for inner evaluation
(d) Value consolidation (iv) Exposure to other values

(v)  Discussions and debates

Code :

(@) (b) () (d)
Options:

H1334553589. (I) (II) (LLI'.) (IV)

91394353590, (i) (i) (i) (V)

srasasssser ) @) (W) (1)

91334553582, (II_[) (l) (I_[) (V)
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(a) HTA IR (i
(b) HeA HHeH (i) eI F UHIHTO & q=Aq H =ETH
(c) YoI TIeTeRIm (iii) AR e B Hehd WS T
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Options:



91334553589,

91394353530, (i) (D) (1) (V)

91334553591, (1) (I.LI'.) (IV) (L[)

91334553592,
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Correct Marks: 2 Wrong Marks: 0
In the institutions of higher education in India which of the following has the formal authority
to approve the courses and programmes of studies ?

Options:

The University Court /Senate
91394353593, :

1394353504 L€Partmental Council

Board of Studies
91394353595,

Academic Council
91394253596,
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IR i 3=3 Toieq deensdi § Trafafad § 9 g ssaa4 & ueawdi 991 FEEH] & e 5
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Options:

L e i

b 551 L 8
[T <kl /HHL

91334553593,

215942535594, ﬁ | i ;\

AT HEdA

91334553585,

H1334553556. ;\
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To improve access and quality in higher education, the Knowledge Commission
recommendations include which of the following ?

(a) Use of ICT for production of knowledge
(b) Closure of non-performing Universities in the country
(c) Establishment of a network of institutions of higher learning

(d) Increase in the enrolment of students in the institutions of higher learning
Code :

Options:

(a), (b), (c) only

913345535397,

b), (d) only

91394353598, (H)’ (

a), (), (d) only

2915334253599, [:-: )

(), (b), (¢), (d)

91334553600,
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(d) = Aferra = Hrrsti § fonfeai & gsfrao § gfg

Options:

%ad (a), (b), (c)

2913394253597,

%ad (a), (b), (d)

913345535398,

Fad (a), (c), (d)

H91334553599.

s1394353600. (@) (D), (), (d)
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Correct Marks: 2 Wrong Marks: O

Mateh the items of List [ with the items of List II and choose the correct answer from the
code given below.

List I List II
(a) Rival Firms (i) External Environment
(b) Technology (ii) Social and Cultural Environment

(¢) Improving Quality (iii) Internal Environment

(d) Ethics in Business (iv) Global Environment

Code :
Options:
(a)—i), (b)—(ii), (e)—(iii), (d)—(iv)
91394353601,
(a)—ii), (b)—(iii), (e)—(iv), (d)—(i)
91394353602,
{ai—iii), (bi—(1), (e)—(iv), (d)—(ii)
91394353603,
(ai—iv), (b)—(1), (e)—(ii), (d)—(iii)
91394353804,
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Correct Marks: 2 WrongMarks: 0

gt 1R wgl 1 gt 10wl & farema Rifse oftt i few o e & & vt 3o =t 9
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(a) wferget wd (i) =T wEtaTo
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(¢) TTErn B GUW @HT (i) i e
(d) sgaam § sman-Afa (iv) Sfvas vatao

He
Options:

(a)—(i), (b)—ii), (e)—(iii), (d)iv)
91234353601,

(a)—(ii), (b)—(iii), (e)~iv), (d)—(i)
H1334553602.

(a)—(iii), (b)—~(1), (e)—{iv), (d)—(ii)
91334253603,

(a)iv), (b)—(1), (e)—{ii), (d)—(iii)
91394353604,
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The companies having business in a large number of countries around the world at present
are called

Options:

Transnational Corporations (TNCs)
91394353605,

Multinational Corporations (MNCs)
21394253606,

Global Corporations (GCs)
215394253607,

Multinational Enterprises (MNEs)
91394353608,
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Options:

qresfa Frm (f.w.d)
91394353605,



agusdra o (o e
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The Industrial Policy, 1956 has been prompted by which combination of the following
developments ?

(i) Adoption of the Constitution of India.

(ii) Implementation of Economic Planning.

(iii) Acceleration of Economic Growth and Industrializsation.

(iv) Awailability of Sufficient Funds for Investment in Public Sector.

Choose the correct answer from the code given below :

Code :

Options:

Only (i) and (ii)
91394353609

Only (i), (ii) and (iv)
91394355610,

Only (ii), (iii) and (iv)
91394353611,

Only (ii) and (iv)
91394353612
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e (1) A (i)
91394353609,

Fae (1), (i) 3 (iv)
91394353610,

Fad (id), (i) 3 (iv)
91394353611,

Fae (i) 3 (iv)
91294283812,
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Indicate the most popular route of privatisation adopted by the Government of India in
recent decades.

Options:
Management-Employee Buyout
91394353613, g oy Y
Spontaneous Privatisation
91334353614,
Cross Holdings
9133245353615,
Strategic sale
91294353616,
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Afa gerent & wid geRr g fstteor o foru stoamen o gaw sfie Silim as guifse -

Options:

sayA-seaEr gof
91394353613,

Tad: Thd et
91394353614

91334553615,

91334553616,
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Consumers need to be given legal protection against certain trade practices
and business methods.

Reason (R): Protection as per market forces and ‘Caveat Emptor’ is not enough
as perfectly competitive market is an economist’s dream and consumer
sovereignty is a myth.

Code :
Options:

(A) is correct but (R) iz incorrect.
91394253617,

(A) is incorrect but (R) is correct.
Q1394353518

Both (A) and (R) are correct and (R) is the right explanation of (A).
91594353619,

Both (A) and (R) are correct but (R) is not the right explanation

of (A).
Q153942526820
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Options:

(A) TE B, (R) Teid 2 |
91394353617, A

(A) e B, 9 (R) Td 8 |
91394353618,

(A) #(R) 9T (R), (A) 1 Tt =g & |
91394353619, = w &
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Second generation reforms in our country do not comprise of which one of the following ?

Options:
Exploiting the knowledge based global econom
21394253621, P g edg & Y
Growing Indian transnational corporations
D1394355622.
Population control measures
91394353623,
91394353624, Clean environment

Question Number : 56 Question Id : 91394313645 Question Type: MCQ Option Shuffling: Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

gan 29 | fadfta i€t & gurdl o Ffafiea 4 @ #47 goifeq 78 2 2

Options:

0130435350, T N HfEF snfeen H 2
91394353622 wrefta e e 1 T
91394353623 e fem 3
91394353624, 00 A

Question Number : 57 Question Id : 91394313646 Question Type: MCQ Option Shuffling: Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

For the following two statements regarding infrastructural services in the country, choose
the correct code for the statements being correct or incorrect.

Statement I : Most infrastructure services are provided by public monopolies which
generally suffer with severe problems like lack of accountability, low
productivity, poor financial performance and over-employment.

Statement Il : There is a need now to induce more private sector investment and
participation in provision of social overheads as it may encourage
better risk sharing, accountability, monitoring and management of
infrastructure sector.

Code :
Options:

91594353625, Both I and II are correct.

Yes

Yes



Both I and II are incorrect.

Q1394355626

I is incorrect, but II is correct.
Q1394355627

I is correct, but 11 is incorrect.
913942532628,

Question Number : 57 Question Id : 91394313646 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

291 § sraEtEATeRs daisl & gy # fefefian g wuet % fog, uet & w6t @ Te e S aed |

et Fe F 77 Hifw |

wyT [ ; Al ST Yot wieh Uit IGHET gRT wEH it St § St g i
THEAISH HY FAGTECH N HATE, T Iergehdr, We fasfty fFearga ot srefue
artae & St | |

w9 11 : Tt suftera 6t sqacar § s el g & sl e o gewfir satfa fee s 6
SELT & Fih T8 FaHtE 47 it gt ifa el semeed, sdta o v
w@TEl & Hehal & |

He:
Options:

13 11 g1 adt § |

21594253625,

1 & 11 g1 e § |
91394353626, a g

177ed &, 9t 11 9dt 2 |
91394353627,

158 8, g 11 7rera 2 |
91394353628,

Question Number : 58 Question Id : 91394313647 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Choose the correct code for the following statements being correct or incorrect.

Statement I : Punctuality and team spirit among employees of an organisation has great
contribution in enhancing profits of the business but they do not appear as
an asset in the balance sheet.

Statement Il : Financial statements do not reflect the correct financial position of a
business.

Code :

Options:

91394353600, Doth the statements I and IT are correct.



91394353550, Doth the statements I and IT are incorrect.

Statement I is correct, but II is incorrect.
91394355621,

Statement I is incorrect, but 11 is correct.
9153942526852,

Question Number : 58 Question Id : 91394313647 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Freaferfaa wu=i % wdt o1 e 8 % god d aft e w1 =97 v |
FYTL ;. UF ST % FAAIE & o9 wngagal 3 I wrae 8 sqaumE F @ H 9 § a5
Fftrs A freran @, wog 9 anfefes fag & us aeafar & =0 o e 78 810 8

w1l ;. faeit faao v sgaam i de-die foasfa foafa =t ofofeafee =& <@ &
Hhe:

Options:

F 1 311 I
91394353629, 3w 8

Fya 1 3 11 21 e 7 |
91394353630, it g

®Y 1 T8 8, 9o 11 7Ter 2 |
91394353631

o 1 T &, Tg 11 9 & |
91394353632,

Question Number : 59 Question Id : 91394313648 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

X Litd. forfeited 40 shares of T 10 each and on which ¥ 4 per share were paid. If the
forfeited shares are reissued as ¥ 8 per share paid up, what is the minimum price the
company must charge ?

Options:

¥ 2 per share
91334353633,

¥ 4 per share
91394353634,

¥ 8 per share
21394253635,

¥ 10 per ghare
215942536356,



Question Number : 59 Question Id : 91394313648 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

usg foa, 4 T 10 v, fom w0 T 4 of 39w wew o1, 9t 40 99 %1 w00 feman | 9 g fepu o aq
T g uftr o wgw o w9 # qARifa fhu sma 8 9t 98 ~gHaw ged 90 g St we i agqe wen
=ifgu 2

Options:

H91334553633. T 230 3

H1334553634. T 430 3

291594253655, T 83t 3w

91334553636, T 105R

Question Number : 60 Question Id : 91394313649 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A and B are partners in a firm sharing profits in the ratio of 3 : 2. They admit X as a
partner for 1/3 share in profits of the firm. The new profit sharing ratio of A, B and X is

Options:

2153942536357,

B91334553635.

91334553639,

21594253640,

Question Number : 60 Question Id : 91394313649 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AR BUH EH | 3: 2% 9 | N 1 Favre w6 e AR § | B % e | 13 faeugrh
% o X =t weh BT3ieR % w9 ¥ wfie w1 8 | A, B ot X T e favre sigama @ @ 2

Options:

91394353637, ° 21

91394353633, ° 22



B912334553639.

91394353640, ° 470

Question Number : 61 Question Id : 91394313650 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which one of the following statements is nof true ?

Options:
Depreciation is a source of funds.
91594353641,
Major source of working capital in the long run, is profits from operations.
91394353642,
Any transaction that increases working capital is a source of funds.
21394253643,
Profits earned from non-operating activities is added to net profit while caleulating profits
from operations.
291394253644,

Question Number : 61 Question Id : 91394313650 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

frefafer d d Fam s adt 78 2 2
Options:
91394355641, B P A i % l

drderet ® wrfvite $oft 1 g | aftarer | v g |

91394353642,
#1§ ot F9-27, it wrEffe Gt it ag, FvF E EE R
91394353643
aftarert & @ it T Fd TEa ToafEre wriwardt ® wfd @y S g o # S S # |
91394353644

Question Number : 62 Question Id : 91394313651 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : A low debt-equity ratio is generally recommended for a newly started
business.

HReason (R): During the initial years of the business, debt servicing will prove to be less
burdensome.

Code :
Options:

Both (A) and (R) are correct and (R) is the correct explanation of (A).
91394353645,

Both (A) and (R) are correct but (R) is not the correct explanation of (A).
21394253646,

(A) is correct but (R) is not correct.
A1=294253847.

(A) is not correct but (R) is correct.
Q1394353548

Question Number : 62 Question Id : 91394313651 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A= 3 A fog e 8, W & o arfirpua (A) 8 fft g@n o (R) @ | AT it afen ol A= feg g
e H1 T4 F T I g |
e (A) : 70 9%F foru o sqama & fon ammaan e so-awar sgerd 6 fretf 6 et 2 )

@ (R) : SqaET & YEAT 991 & G FO e w9 widt afea g

He:
Options:

(A) # (R) q9T (R), (A) i wat sgrean § |
91394353645, T wd ¢

(A) 3R (R) 31 5t €, W (R), (A) < et samen 3¢ & |
91394353646,

(A) T8 B, T (R) Teid 2 |
91394353647,

(A) T &, WG (R) &t 2
913943536483,

Question Number : 63 Question Id : 91394313652 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which one of the following statements is nof true ?

Options:



Conversion of debentures into preference shares will decrease

debt-equity ratio.
Q1294252849 equity

Long-term liabilities due for payment within a year should be treated as current liabilities.
91394353650

Higher operating ratio indicates higher profits.
Q1394253 E51 . & pe & '8 P

Cost of sales is a better numerator than sales while ealeulating stock turnover.
215394253652,

Question Number : 63 Question Id : 91394313652 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Freafefiaa d & o o adt 78 2 2
Options:

o-gat o Aferr s & wftada @ soogwar sEema w2 s |
91394353649,

91394353650, o T & ¥ty < fora < defwers it i A it % w9 # WS |

af=reE i
91394353651, UG IR A T o e € |

Tefera arad it o Fd T faser 6 @rra, faska B qern J SEe T g #
91394353652,

Question Number : 64 Question Id : 91394313653 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A company proposes to introduce a new product in the market. The company wants to
maintain P/V Ratio at 25%. If variable cost of the product is T 300, what will be the selling

price ?
Options:

91334553653, ¥ 100

291594253654, <200

H12334553655. ¥ 300

91334553656, ¥ 400



Question Number : 64 Question Id : 91394313653 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

U FGH AR U 1 I01G U HH F WS FA 2 | T 25% 9/, e sm e @
aredt # | afg searg it aftad=sfta @ T 300 &, 9t fskr gew w0 w2

Options:

91334553653, ¥ 100

91334553654, ¥ 200

H91334553655. ¥ 300

91334553656, ¥ 400

Question Number : 65 Question Id : 91394313654 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The inverse relationship between the variation in the price and the variation in the
guantity demanded is nof due to
Options:

91394353657 L rice effect

Entry and exit of buyers
Q1394353658 by Y

Gossen's laws of consumption
21594253659,

91394353660 Law of substitution

Question Number : 65 Question Id : 91394313654 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
qea # uftad= aft =i 6t won § sftad= % = w0 wfocts gag fea wrord 7@ gar g 2
Options:
PRI
91394353657, i

91334553658, ot & 5 K

91334553659, e % Fram



215334253660, *

Question Number : 66 Question Id : 91394313655 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Cardinal utility analysis of consumer’s behaviour is based on which combination of the
following assumptions :

(i) Utility is measurable in terms of cardinal numbers.
(ii) Constancy of the marginal utility of money.
(iii) Utilities of different goods are interdependent.

(iv) Gossen’s first law of consumption.

Choose the correct answer from the code given below :

Code :

Options:

Only (i) and (ii)
91394353661,

Only (i), (ii) and (iv)
91394353662,

Only (ii), (iii) and (iv)
91394355663,

Only (iii) and (iv)
91394353664,

Question Number : 66 Question Id : 91394313655 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

gmﬁﬂﬂ%ﬂmﬁﬁnan%ﬁmﬁmmzmﬁﬁﬁnﬁﬁﬁwwuvmamﬁ%:ﬁmﬁaﬁmiﬁiiﬁﬁazﬁﬁa#qtanﬁmm
?

(i) Iwtfira o Gt % sgEn ared #

(i) & <t drora Iwtfia 6 e |

(iii) Fora-firg segatt &t swifiand sl )

(iv) TITEA =1 39T 1 gger Fam |

Hre fou o e W & Wt 3w g

% :

Options:

e (1) A (i)
91394353661,

e (1), (ii) 3 (iii)
91394353662,



Fad (ih), (i) 3T (iv)
91394353663,

Fae (iii) 3 (iv)
91394353664,

Question Number : 67 Question Id : 91394313656 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Mateh the items of List [ with the items of List II and choose the correct answer from the
code given below.

List I List IT
(a) Income elasticity less than unity (i) Competitive goods
(b) Cross elasticity less than unity (ii) Inferior goods
(c) Cross elasticity less than zero (iii) Superior goods
(d) Income elasticity less than zero (iv) Complementary goods

Code :
Options:

(a)—(i), (b)—{ii), (e)—(iii), (d)—(iv)
91334353665,

(a)iv), (b)—(iii), (e)-i), (d)—(ii)
91394353666,

(a)—(iii), (b)—(i), (e)—liv), (d)—(ii)
91594353667,

(a)—(iv), (b)—(1), (e)—(ii), (d)—(iii)
91534253668,

Question Number : 67 Question Id : 91394313656 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

gt 1t wgl 1 gt 11t wgl & frem Ao oit fi= feg e g2 9 & ot 3w =t gfie
g T I

(a) dA ArE FFE A FH A (1) el aegd

(b) WREE JFE A FA A (i) &9 T%qd

(o) o A A FA A (i) 3 seqd

(d) 3 &= I A FA A (iv) T Feqd

ETE

Options:

(a)—i), (b)—(ii), (e)-(iii), (d)—iv)
H913345536E65.

(a)—(iv), (b)—(iii), (e)~(i), (d)—(ii)
91334353666,



(a)—(iii), (b)—(1), (e)—{iv), (d)—(ii)
91534353667,

(a)iv), (b)—(1), (e)—{ii), (d)—(iii)
91394353668,

Question Number : 68 Question Id : 91394313657 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Production function is based on which combination of the main characteristies of the inputs
from the following :

(i) Substitutability
(ii) Complementarity
(iii) Flexibility

(iv) Specificity

Choose the correct answer from the code given below :

Code :

Options:

Only (i) and (ii)
Q1394355669

Only (ii), (iii) and (iv)
91294353670

Only (i), (ii) and (iv)
91594353671,

Only (iii) and (iv)
91594353672

Question Number : 68 Question Id : 91394313657 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

IeUTEA He, IeAg & el % e Afvween & Frefafias § @ fea wiem o smafa 2 2
(i) wfereTasR

(iv) farfafsea
Hre fou e e W | wdt I w g

% :

Options:

e (i) A (i)
91394353669,



Fad (ih), (i) 3T (iv)
91394353670,

Fae (1), (i) 31 (iv)
91394353671,

Fae (iii) 3 (iv)
91394353672

Question Number : 69 Question Id : 91394313658 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : There exists excess capacity of the production for the firms if these incur
losses.

Reason (R): Their production level has to remain below their economic capacity level.

Code:
Options:

(A) is correct but (R) is incorrect.
A1 29432E367 32

(A) is incorrect but (R) is correct.
Q1394353674

Both (A) and (R) are correct and (R) is the right explanation of (A).
91394253675,

Both (A) and (R) are correct but (R) is not the right explanation of (A).
91394353676,

Question Number : 69 Question Id : 91394313658 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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% :
Options:
(A) T 2, 9 (R) Terd 2 |
41394353673,
(A) TR 2, 9O (R) W&l 2 |

B91334553674.



(A) # (R) q9T (R), (A) i wat sgrean § |
91394353675, g e ¢

(A) 3R (R) ST vt &, T (R), (A) 1 Tt =amen 7 2 |
91394353676,

Question Number : 70 Question Id : 91394313659 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The monopoly involves a social cost mainly due to its emphasis on which one of the
following ?

Options:

Earning net profit in all possible situations.
Q1394352677 8 P

Lower output at a higher cost in a normal profit situation.
91334353678,

Charging different prices from different categories of buyers of the same product.
91394252679, & P teg ¥ P

Attempting to stall entry of other firms in the market.
21394253680,

Question Number : 70 Question Id : 91394313659 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

uIfeRr |, qegaa Frfafaa fea oo fou s 6 a9 @ gmfas @ fadfe 2dt & 2
Options:

asft wwrfera wftfeufer & wg o wam |
91394353677,

g =y gifeafs § ot 3= e w e 3emeT )
9139435367 8.

91394353679, swatait <1 firs-firs Aot & seft aeq & fore forr-firss wgea o |

91394555650, TR A I BHI T P AFA H WA FA |

Question Number : 71 Question Id : 91394313660 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Cost plus pricing is considered appropriate for which combination of the following ?
(i) Product Tailoring

(i) Public Utility Pricing

(iii) Refusal Pricing

(iv) Monopoly Pricing

Choose the correct answer from the code given below :

Code :

Options:

Only (i) and (ii)
91924353681,

Only (i), (ii) and (iii)
Q1394355682

Only (ii), (iii) and (iv)
912943536583

Only (iii) and (iv)
91594353654,

Question Number : 71 Question Id : 91394313660 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

AT O e (emraraft S Fafon) frafafas § @ fea @atem & fou svgs o s 2 2
(i) Jeurg

(ii) S I e

(iil) ¥=pM eI
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% :
Options:

e (1) A (i)
91394353681,

Fae (1), (i) 31 (iid)
91394353652,

Fad (iD), (i) 3T (iv)
Q1=Z94=2523855.

e (iii) 371 (iv)
91394353654,

Question Number : 72 Question Id : 91394313661 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

If a perpendicular on X-axis from the point of intersection of both ‘less than’ and ‘more than’
frequency curves is drawn, it gives the value of

Options:

91394353655, ‘rithmetic mean
Third quartile

91394353636,

91394353657, Mode

9139435365, Median

Question Number : 72 Question Id : 91394313661 Question Type: MCQ Option Shuffling: Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

afe a9 | IR T afuw Fgft ot % wfaeeeT famg @ X-1e1 W v o1 af g6 Frferfiaa 7 @
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Options:

915324253685, IR A1
91394353636, WW
91334353687, e
31334353638, e

Question Number : 73 Question Id : 91394313662 Question Type: MCQ Option Shuffling : Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Choose the correct code for the following statements being correct or
incorrect.

Statement 1 - If the value of B,, i.e, §_4’ of a distribution gives the
4
value more than 3, its curve is platykurtic.
Statement II : In a moderately asymmetrical distribution, the standard
deviation is 1-25 times of mean deviation.
Code :
Options:

9139435365g, Doth the statements I and II are correct.

Yes

Yes



Both the statements I and II are incorrect.

9123942355690,

Statement I is correct, but II is incorrect.
913942355691,

Statement II is correct, but I is incorrect.
91394252692,

Question Number : 73 Question Id : 91394313662 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
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Options:
FYA 1 3 11 |
Q1394253059 fFﬁHEPI'E
FYA 1 3 11 Ted & |
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w1 T8t &, 9eq 11 7Teiel & |
91394353691,

FUA 11 T8 7, 9g [ 7Teid & |
91394353692

Question Number : 74 Question Id : 91394313663 Question Type: MCQ Option Shuffling: Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Which of the following statements relating to the sampling theory are correct ?

(i) The values of the statistical measures based on the sampled units are called values of
statistic.

(ii) In the simple random sampling technigue, the element of the population and the unit of
the sample are different.

(iii) Snow-ball sampling technique is a probability based sampling technique.

(iv) The ‘law of statistical regularity’ and the ‘law of inertia of large numbers’ are the main
bases of the sample to become representative of the population.

Choose the correct answer from the code given below :

Code :

Options:

Yes



(ii) and (iii)
Q159425264593

(i) and (iv)
Q1394252594

(1), (ii) and (iii)
91334553635,

(ii), (iii) and (iv)
91334553656,

Question Number : 74 Question Id : 91394313663 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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He
Options:

(ii) 3 (iid)
Q1394253095

(i) 3T (iv)
91394353694,

(1), (ii) 37 (iii)
91394353695,

(i), (i) # (iv)
91394353696,

Question Number : 75 Question Id : 91394313664 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following is nof the correct property of normal distribution ?
Options:
91594353697 Continuous distribution

Equality of central values (Mean, Mode and Median)
215942536595,



Standard deviation is the sole parameter of the distribution
91394353693,

91394353700 Uni-modal distribution

Question Number : 75 Question Id : 91394313664 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fr=fafiga & @ g 9eq i S 9 g a8 & 2

Options:
91394353697, 00 A<
F4H Wl FHEGT (AT, TEes I wifer)
91394353698,
are famem @ 9eq #1 wha TrEe
91394353699, a ?
Ush-ageTehl Wed
91394353700,

Question Number : 76 Question Id : 91394313665 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The probable error of the coefficient of correlation (r) is calculated by which one of the
following formulae ?

Options:

||1—1"2

0-6745
91334553701,

1-12)

W

0-6745
91334553702,

1412

|

411

0-6745

91334553703,

2
g6745i£:l;i

91394353704, I

Question Number : 76 Question Id : 91394313665 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Freafeafiaa o & ffw g3 gro wegaw ones (r) it wwrfea 3 i o i @ 2

Options:

06745 17T

91334553701,

0-6745 ———
91334553702,

1412

0-6745
Jn

91334553703,

2
0-6745 a+r7)

91394353704, I

Question Number : 77 Question Id : 91394313666 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Choose the correct code for the following statements being correct or incorrect.
Statement I : The geometric mean of the two regression coefficients of X and Y variables
gives the value of the coefficient of correlation.

Statement I : 1f the population distribution is not normal and a sampling distribution of
mean is prepared by taking small sized samples, the sampling distribution
of mean is not normal.

Code :
Options:
91394353705, Both the statements I and II are correct.
91394353706, Both the statements I and II are incorrect.
Statement I is correct, but II is incorrect.
Q1294252707
Statement II is correct, but I is incorrect.
Q913942527 08,

Question Number : 77 Question Id : 91394313666 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Freafafaa Suai % wdt @1 7o 29 % ded § wd g2 w1 =9 fifaw |
F71 : XY = % g wewTHa it 1 SAfidE oren Fesey e & HE ST § |

9 I1 : afe gy "7 amra T80 § 3 arer & wfo=gs 927 &1y sen aret wfeget st R fum
o wman 2, it wver i wftrsEe "o A A dar @

®e:
Options:

FYA 1 3 11 |
91394353705, 3 8

FYA 1 3 11 Teld & |
91394353706, A g

w1 98t &, 9q 11 7o 2 |
91394353707,

FIA T8 8, Tg [ 7Ted & |
91394353708,

Question Number : 78 Question Id : 91394313667 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following is not the advantage of database management system ?

Options:

91394353709, Centralized control

High acquisition costs
Q1394252710 181 acd

Improved data integri
Q1294252711 P v

91334553712, Sh data

Question Number : 78 Question Id : 91394313667 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Frefefiga & @ - g9 3 s qoreft = AW A £ 2

Options:

Formm
91394353709,

91334353710, o=



IeHsE HHF Tl
91394353711,

EEUE LD

9133435371%.

Question Number : 79 Question Id : 91394313668 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Choose the correct code for the following statements being correct or incorrect.
Statement I:  An jdentifiable group of people contributing their efforts towards attainment
of goals is called organization.

Statement II : p, jts broadest sense, organization refers to the relationship between the
various factors present in a given endeavour.

Code :
Options:

91394353713 Both the statements I and II are correct.

91394355714 Doth the statements [ and IT are incorrect.

Statement I is correct, but 11 is incorrect.
91394252715,

Statement II is correct, but I is incorrect.
Q1594353716

Question Number : 79 Question Id : 91394313668 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Freafafiaa Suet % wdt @1 Tora 219 % e 7 wdt g w1 T fifaw |

wy7l ;v fafvea safew g & gro et i wfta 3g fore o aret sl it @ deE e §
FYTI] :  TeA fordt vara fas & foemm fas weshl % neg ooy it ffdse s 2

Hhe:

Options:

F 1 31 11 I
91394353713, 3w &

FYA 1 3 11 Ted & |
91394353714, i g

®Y- 1 T8 8, 9oq 11 7Tere 2 |
91394353715,

w1 110t 8, wtg 1 7Te7 & |
91394353716,



Question Number : 80 Question Id : 91394313669 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match the items of List [ with the items of List II and choose the correct answer from the
code given below.

List I List IT
(Propounder of Theory) (Theory of Motivation)
(a) Dr. Willian Ouchi (i) X Theory
(b) Douglas MeGregor (ii) Need Hierarchy Theory
(¢) Frederick Herzberg (iii) Z Theory
(d) A.H. Maslow (iv) Hygiene Theory
Code :
Options:
(a)—(ii), (b)—(iid), (e)—(iv), (d)—(1)
91394353717,
(a)—iv), (b)—(i), (e)—(iii), (d)—(ii)
91394353718,
(a)—(iii), (b)—(1), (e)—(iv), (d)—(ii)
21394253719,
(a)—(ii), (b)—(i), (e)=(iii), (d)—(iv)
A1594353720.

Question Number : 80 Question Id : 91394313669 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
gt 1t wgl 1 gt 11t wgl & frama Aifore oft = fog e e 9 & gt 3w =t gf

T 1 T I
(forgra & wftares) (srfersom & firgia)

(a) =, faferam sra=h (i) g fagm

(b) STed AT (i) SravaHars i waaga #1 fagra
(e) el gotar (iii) e Rrgra
(d) 2.2, i (iv) s fergra
% :
Options:
o1m04msar1y (@, (0D, (©~v), (d-G)
1394353718, @9 (B, (@-{iid), (d)~(iD

(a)—(iii), (b)—(1), (e)-liv), (d)—(ii)
91594353719,



(a)—(ii), (b)—(i), (e)—(iii), (d)~(iv)
91334353720,

Question Number : 81 Question Id : 91394313670 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Arrange the following stages of staffing in correct sequence and indicate the code of correct
sequence.

(i) Performance appraisal
(ii) Recruitment

(iii) Transfers

(iv) Selection

{(v) Induction and orientation

Choose the correct answer from the code given below :

Code :
Options:

(iiy, (i), (iw), (v, (iii)
Q1394353721

(i), (iw), (w), (i), (iii)
91334353722,

(1w}, (1), (w), (11d), (i)
Al13942E3723

(1), (11), (iv), (v), (1)
91334553724,

Question Number : 81 Question Id : 91394313670 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

e 3 Freffad il 1 w8 s § swafn S dad s g B g |

(v) SIPTH qen afireyTes
fr= feu o gz # @ wdt 3w g

Hhe:

Options:

(ii), (i), (iw), (v, (iii)
Q1394353721



(1), (iv), (v), (i), (1ii)
91334353722,

(iv), (i1), (v}, (1id), (1)
91334553723,

(1), (1), (iv), (v), (iii)
91334553724,

Question Number : 82 Question Id : 91394313671 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Technological change and skill requirements have been made a subject of
investigation in an organization.

Reason (R):  The neo-classical economic theory stated that technological changes require a
broader variety of skills and higher average skills from the workers.

Code:

Options:

Both (A) and (R) are correct and (R) is the right explanation of (A).
91394353725,

Both (A) and (R) are correct but (R) is not the right explanation of (A).
91394353726,

Both (A) and (R) are incorrect.
Q1=294=2E=727.

(A) is correct but (R) is incorrect.
Q1394253728

Question Number : 82 Question Id : 91394313671 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

=t Fu fog e 8, o @ o afirnem (A) @ s g@n 7% (R) 8 | Sl it ofge offe e g g
e WA Fad I g |
iy (A) : UF TTed | retfirhr ftad= vd wivre swemd wfe % g e g me 8

7 (R) : Fa-geuges At fiaga O e man f dreifibe afedat & o seend @ e 6
wAftrer samaens fafeaaar oft s aftaa st it sravasar aidt 2 |
He:
Options:

(A) 3 (R) q9T (R), (A) i 98t =amEan & |
91394353725, o w & e &

(A) 3 (R) g1 @t &, g (R), (A) i Gt = 78 # |
91394353726,



(A) 3T (R Ted & |
91394353727, } ) &

(A) TR &, g (R) 7T 2 |
91394353728,

Question Number : 83 Question Id : 91394313672 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Corporations are controlled and directed by which one of the following 7

Options:

Corporate ethics
91394353729,

Corporate codes
913942353730,

Corporate governance
21394253731, po &

Corporate mechanism
1594353732,

Question Number : 83 Question Id : 91394313672 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

frm frfefiaa @ @ frass gro Fafa sfh Fefim &k 8 2

Options:

91394353723, FHiRe s A
91394353730, e et
91394353731, e W
31334353732 e 71

Question Number : 84 Question Id : 91394313673 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Critical path indicates which one of the following ?

Options:

Longest route of completing a task
91334353733,



Shortest route of completing a task
91394353734,

Average time of completing a task
91334353735,

Recorded time of completing a task
91334553736,

Question Number : 84 Question Id : 91394313673 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
shrf=ereh mf Preafefiaa & & foraem oias 2 2

Options:

ueh G HE H gEd wear qn
91394353733,

w F 1 FR S
91394252734,

uh w1 Q0 FwE w1 ftd qu
91394353735,

wh F B A F AeETg T
41394353736,

Question Number : 85 Question Id : 91394313674 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one among the following is the oldest form of organization ?
Options:
Committee Organization

2153342537357,

Project Organization
91394353738,

Functional Organization
213942353739,

Line Organization
215394253740,

Question Number : 85 Question Id : 91394313674 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Freafafiaa & @ - grea &1 wETas w9 8 2

Options:



2153342537357,

913345353738,

91334553739,

91334553740,

Question Number : 86 Question Id : 91394313675 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following demands states consumers are adequately buying all the
products put into the marketplace ?
Options:

91394353741, Overfull demand

91394353742, ulldemand

Irregular demand
913943537453,

91394353744, atentdemand

Question Number : 86 Question Id : 91394313675 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frefeafiga & & form win 9 o=a, Joiet arar § s wft IearE) =6t vafd A d @i w A § 7
Options:

qortferep wiT

91334553741

qof wiT

21594253742,

91334553743, it

H=dfea &

91334553744

Question Number : 87 Question Id : 91394313676 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one of the following is not true for introducing multiple brands in a category ?

Options:

Increasing shelf presence and retailer dependence in the store
21394253745,

Attracting consumers seeking variety who may otherwise have switched to another brand
91594353746,

Decreasing internal competition within the firm
91394353747,

Yielding economies of scale in advertising, sales, merchandising and physical distribution
2913942353748,

Question Number : 87 Question Id : 91394313676 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

foreft e Aoft 5 374 sii-al I AN F 6 Hay # Frafafias @ @ =0 ad 78 22

Options:
R H 9ew ufeufa aft gau faskar &t Frfoan s
41394353745,
fafaerar g arat Invieadl it srRfia S s St fanedt gt aite it o = ST
91394353746,
91394353747 T i s SRt 3 il T
fergma, faht, witer sft witferer oo & um <fr foraemaan 1 ol
91394353748

Question Number : 88 Question Id : 91394313677 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Mateh the items of List [ with the items of List II and choose the correct answer from the
code given below.

List I List IT
(a) Mobile defense (i)  Occupying the most desirable position in consumers’ minds,
making the brand almost impregnabhle.

(b) Contraction defense (ii) The leader stretches its domain over new territories through
market broadening and market diversification.

(¢) Position defense (iii) Large companies give up weaker markets and reassign
resources to stronger ones.

Code :
Options:

(a)—(ii), (b)i), (e)(iii)
91394353749



91334553750,

91334553751,

91334553752,

(a)—(i), (b)—(ii), (e)—(iii)

(a)—(ii), (b)—{iii), (e)—(i)

(a)—(i), (b)—(iii), (e)—(ii)

Question Number : 88 Question Id : 91394313677 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt 1t wgl 1 g 11t wgl & farema fifsre oft A= feg o e & & ot 3w =t gfw

g1

Ll

(a) grarge gfewem () 99 < feam < gaffis aifea fefa @ wesn

FAT AN 3H THE FE il AHT HAWAT AT |

(b) Tgeq Wfeam (i) 3T 39 W i TR fawan i R

(c) feufe wfowen

ETE

Options:

913345537495,

912334553750,

291594253751,

91334553752,

Question Number :

Terfereftepor < wream & =u st o forearfa @ 2 |

(i) agt Heft HAER AR S Bg At § ot g5
arartt % o daneAt it g3 Fraffa sl 8 )

(a)—(ii), (h)—(i), (e){iii)

(a)—(i), (b)—(ii), (e)—(iii)

(a)—(ii), (b)—(iii), (e)~(i)

(a)—(i), (b)—(iii), (e)—(ii)

89 Question Id : 91394313678 Question Type: MCQ Option Shuffling : Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) :

Reaszson (R) :

Code :

Options:

91334553753,

Purchase decisions are not based on how customers perceive prices but on
the marketer’s stated price.

Customers may have a lower price threshold, below which prices signal
inferior or unacceptable quality, and an upper price threshold where the
product appears not worth the money.

Both (A) and (R) are correct and (R) is the right explanation of (A).

Yes



Both (A) and (R) are correct but (R) is not the right explanation of (A).
91394353754,

Both (A) and (R) are incorrect.
Q139435375

(A) is incorrect but (R) is correct.
A1 2942E37EE.

Question Number : 89 Question Id : 91394313678 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

= gt %o fou mu 8, famd @ o sfirspem (A) R ol gmo 7% (R) § 1 el it afee ol e g
e AT F T I g |
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ferqureral & st geg w Pl e 2
% (R) : Teeht i Fr qea srafi g gt & R e % e e s e @@
gﬁ%ﬁﬁﬁﬁﬁmmam%aﬁm%%mmﬁaﬁ
:

He:
Options:

(A) #(R) 9T (R), (A) 1 Tt =g & |
91394353753, = w &

(A) 3ft (R) ST w#t €, 7g (R), (A) it Tt samean 78 & |
Q1294252754

A) # (R Ted & |
91394353755, @ 3 R®) T g

(A) TeTd &, 9g (R) &t 2 |
91394353756,

Question Number : 90 Question Id : 91394313679 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In which one of the following modes of entry into foreign market are risk and profit
potential the highest ?
Options:

Indirect exportin
Q1=294=2E=7FE7. po g

Direct exportin
91394353758, poriing

91394353759, 1 rect investment



91394353760, Joint ventures

Question Number : 90 Question Id : 91394313679 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
fargeft smam & werm <t -t faftr & Siflam ot ey 6t wowmran waifess &t 2 2

Options:

H1334553757. |

215394253758, AcH

91334553759, A

HY JTM
Q1394353760

Question Number : 91 Question Id : 91394313680 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following modes is not an example of Direct and Database marketing
communication ?

Options:

Social media marketing
913245353761,

Catalogues
21594253762,

Mailings
913943537635,

Telemarketing
91334353764,

Question Number : 91 Question Id : 91394313680 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Freafeorfaa 4 @ s fafy s o Serem fagom @i 1 g 78 2 2
Options:

B912334553761.

G RE]

91334553765,



2153342537635,

91334553764,

Question Number : 92 Question Id : 91394313681 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

To examine whether the company is pursuing its best opportunities with respect to markets,
products, and channels is the purpose of which one of the following types of marketing
control ?

Options:

Annual-plan control
21394253765,

Profitability control
A1594353766.

Efficiency control
91394353767,

Strategic control
213942353768,

Question Number : 92 Question Id : 91394313681 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

7 yiterr e fo = weafrat areml, Ieargl oft Sl % dey | s sgalia sEat F san +
&, Frafafas & @ fha wehm % srom e 1 2w & 2

Options:

91394353765, H et Fem
91334353766, R R
91394353767, 3o feem
91334353768, IR Frem

Question Number : 93 Question Id : 91394313682 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Combined leverage can be used to measure the relationship between

Options:



EBIT and EPS

91394353769,
91394353770, s and EFS
91394353771, oes and EBIT
91394353772, T AndEPS

Question Number : 93 Question Id : 91394313682 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Hyh oftatsr 1 38 @ foraes <t o gam 1 Ao e o fore s fRen o w2 2
Options:

91394353769, oA, ot 3 f T,

s it .4,
91394353770, 307

91394353771, foska st 3.4 me. 4.

91394353772 Ao d. s e

Question Number : 94 Question Id : 91394313683 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Sales of a firm are ¥ 40 lacs; variable costs ¥ 10 lacs; fixed costs
7 15 lacs; interest T 5 lacs. Combined leverage of the firm will be

Options:

2153342537735,

91334553774,

91334553775,

91334553776,

Question Number : 94 Question Id : 91394313683 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Uk B ol Tasa T 40 o siad=siie @re T 10 @@; &S @0a T 15 9 o= T 5 g |
H 1 T oA gt oA B 2
Options:

91394353773, 20

91334553774,
91334353775,

H1334553776,

Question Number : 95 Question Id : 91394313684 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
A firm has inventory turnover of 3 and cost of goods sold is T 2,70,000. With better
inventory management, the inventory turnover is increased to 5. This would result in
Options:

Increase in inventory by T 54,000
91394353777,

Decrease in inventory by ¥ 36,000
91394353778,

Increase in cost of goods sold by § 20,000
21394253779,

Decrease in inventory by T 90,000
91394253750,

Question Number : 95 Question Id : 91394313684 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T BH 1 T4 ATad 3 8 i fasra 1 g e i @ T 2,70,000 B | WEGT T e &
FOIEAEY Ty Had d¢ HL 5 B AT 2 | 3 TOOTHEEY

Options:

w4 ® T 54,000 % 9fg 7 et
91394353777,

g § T 36,000 Fi =t g st
91394353778, #

fesra fob 5w W <t @ra # T 20,000 i 3fg & st
91394353779,



g § T 90,000 Fr =t gt st
913943537380, @

Question Number : 96 Question Id : 91394313685 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following sources of finance has an implicit cost of capital ?

Options:

Equity share capital
91394253781, quity P

Preference share capital
215394253782,

91394353783, epentures

Retained earnings
913245353754,

Question Number : 96 Question Id : 91394313685 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

foret o Frafefian wrai & @ frmht Gft <t e swfifea 2t 2 2
Options:
91394353781, = i?ﬁ

wfemm o7 gt
91394353782,

91394353785, -

91334553754, i

Question Number : 97 Question Id : 91394313686 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following variables iz not known in Internal Rate of Return method of capital
budgeting ?

Options:

91594353785, Amount of cash inflows

Life of the project
91394253756,



91394353787 Amount of cash outflows

9139435375, 1 seountrate

Question Number : 97 Question Id : 91394313686 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ot wten it et w6 o fafa % Prafafiss <0 3§ @ Sw wa af g 20
Options:

Tiehg FAadigl =i
91394353785, i

91394353786, et i i 1t

Tiehg Afgalal =i A
91394353787, '

FoHdl gL
91394353738,

Question Number : 98 Question Id : 91394313687 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following statements is/are false ?
(i) Capital profits can never be distributed as dividends to the shareholders.

(iiy Dividends are paid out of profits and, therefore, do not affect the liquidity position
of the firm.

(iii) Every company should follow the policy of low dividend payment.

(iv) Walter's model suggests that dividend payment does not affect the market price of the
share.

Choose the correct answer from the code given below :
Code:
Options:
(i), (ii) and (iii)
91394353789,

(1), (ii), (iii) and (iv)
Q1294252790

(ii), (iii) and (iv)
91334553791,

(iii) and (iv)
A1 394253792,



Question Number : 98 Question Id : 91394313687 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Frefafiga 9 @ s-a/8 %97 18w 28 2
iy ot w6t et F s % w0 A it ot faafa o e e e 2
(i) ST st et 7 o faafa e s @ sufoe 3wl i qeran i ferfa it mnfaa o w@ )
(iii) e FEEt A e A s s fi )
(i) et Sfaeq Faran & fo @99 1 YTa™ 379 % ST qed i wifad T8 i @ |

fr feu o F2 # @ T I R A
Hhe:
Options:
(1), (1) 9T (iii)
21394253789,
(1), (iL), (iii) 99T (iv)
9153943537390,
(L), (1) THT (iv)
91394353791,
(101) YT (iv)
213942353792,

Question Number : 99 Question Id : 91394313688 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following is not a method of preparation of cash budget ?
Options:
91394353793, Proforma Balance Sheet method

Adjusted Net Income method
913943537394,

Receipts and Payments method
913943537935,

Cash Cycle method
215394253796,

Question Number : 99 Question Id : 91394313688 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Freafafiaa 4 @ -t teg a9 fur w0 6 v f&afa a8 2 2

Options:



91334553793,

913345537394,

wifta wd yram fafy
91394353795 b

Trehg = fafy
91394353796,

Question Number : 100 Question Id : 91394313689 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Mateh the items of List [ with the items of List II and chooze the correct answer from the
code given below.

List I List IT
(a) Behaviour referent (i) Wide ranging cultural, structural and
personnel strategies
(b) Focus of attention for (ii) Manage climate and culture
interventions
(¢) Conflict handling (iii) Few
(d) Job categories and grades (iv) Values/mission
Code :
Options:
(a)—(iv), (b)—(ii), (e)—(i), (d)—(iii)
91394353797,
(a)—(iii), (b)—(1), (e)(ii), (d)—(iv)
215394253795,
(a)—(iv), (b)—(i), (e)—(ii), (d)—(iii)
91394353799
(a)—(i), (b)—ii), (e)—(iv), (d)—(iii)
31394353800,

Question Number : 100 Question 1d : 91394313689 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



gt 1t wgl 1 g 11t wgl & frem Aifsre oit A= feg e e 9 & ot 3wt =t gfiw
Tt I et 1T
(a) SR GHfER (i) =19 Ak, GTaTeAH S Fiffeh HrE-taar
(b) BEa&d % fore e % Fgfag () araTEte wE HEpla S gre
(c) He (3Tgg) A BUTEET (ii) FSF
(d) e st afit e (iv) Hea/faem
e
Options:

(a)—iv), (b)—(ii), (e)—(i), (d){iii)
91394353797,

(a)—(iii), (b)—(1), (e)—ii), (d)~(iv)
91334353738,

(a)iv), (b)—(1), (e)—{ii), (d)—(iii)
91394353793,

(a)—(i), (b)ii), (e)—(iv), (d)(iii)
912342353800,

Question Number : 101 Question Id : 91394313690 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which one of the following items is not a part of job specification ?
Options:
Locati
91394353801, on

91394353500, |nitiative

Judgement
291394253803,

91394353504  Lmotional characteristics

Question Number : 101 Question Id : 91394313690 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
freafafiaa & @ s w5 fafdm = feem 7@ 2 2

Options:

91334553801,

91334535380%. &



91334553803,

91334553804,

foofa

HaTTede (MTaTedeh) HAfierao

Question Number : 102 Question Id : 91394313691 Question Type: MCQ Option Shuffling : Yes Display Question Number
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match the items of List I with the items of List IT and choose the correct answer from the
code given below.

List I

List IT

(Type of Interview) (Usual Application)

(a) Structured

(i) A realistic approach that yields comparable answers plus
indepth insights

(b) Unstructured (i) Useful to understand applicant’s reasoning and analytical

(e) Mixed

abilities under modest stress

(iii) Useful for valid results, especially when dealing with large
number of applicants

(d) Behawvioural (iv) Useful when the interviewer tries to probe personal details of

Code :

Options:

912334553805,

21594253806,

91334553807,

91334553808,

the candidate to analyse why they are not fit for the job

(a)—(iii), (b)—(1), (e)-{ii), (d)~(iv)

(a)—iv), (b)—(id), (e)—(i), (d)(iii)

(a)—(1), (bi—(iv), (e)—{ii), (d)—(iii)

(a)(iii), (b)—(iv), (e)-i), (d)—(ii)

:Yes

Question Number : 102 Question 1d : 91394313691 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



gt 16t wel %1 g 11 agl & fiyem Aifie ok e fo o e 8 @ wdt 3w g9

et 1 et 10
(|TETTERR 3 TER) (W STTIET)
(a) Hefam (i) ek At gfees fomd maw stadfeedt % wmy gorfty s are B 8
(b) FEa (i) G gEE & AT ArEgH it T vd faverens Feaat st
ausH & foe gemft
() Tuféra (iti) wr= forwt & o swahft, s @a e sl 6t 99 gem @ foe
®E
(d) STaENTh (iv) 3@ gfcfeufe o st s aerrsnendl 38 ama & fagemo 6@ % fog
e s ad A s Al ifemiasd 5
feau 39y & &
e
Options:

(a){iii), (b)—(1), (e)—{ii), (d)—{iv)
91394353805,

(a)—(iv), (b)(ii), (e)—(i), (d)—iii)
91594353806,

(a)—(i), (b)—(iv), (e)—(ii), (d)—(iii)
91394353807,

(a)—iil), (b)~(iv), (e)~(i), (d)—(ii)
91394353808,

Question Number : 103 Question Id : 91394313692 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to Donald Kirkpatrick, training programmes can be evaluated at four levels.
Indicate the code of correct sequence from the following :

(iy Result

(iiy Heaction
(iii) Learning
(iv) Behaviour

Choose the correct answer from the code given below :

Code :
Options:
(i), (1i), (1ii), (iv)
291394253809,

(1ii), (iw), (1), (i)
91334353810,

(11), (1ii), (iv), (1)
91334553811,



(i), (11i), (i), (1)
9133455381 %.

Question Number : 103 Question Id : 91394313692 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
etree fardifes % smam sfirr srefpat 1 e sl o geare e sn gear 2 | Prefefes 4 @
F2 % Tl ITHA HI M -

(i) gftomg
(ii) oferfern
(iii) Hftr
(iv) =FEER
3 Ry o g2 A @ @@ WA P
% :
Options:
(1), (i), (iii), (iv)
Q12942525809
(i), (iw), (1), (ii)
91394252810,
(11}, (iii), (iv), (1)
Q91594252811
(iw), (1id), (11), (1)
Q12943535812

Question Number : 104 Question Id : 91394313693 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match the items of List I with the items of List IT and choose the correct answer from the
code given below.

List I List IT
(a) Claims (i) Company car, club membership, paid holidays, furnished house
(b) Fringe benefits (ii) Telephone/mobile allowance, internet allowance, medical allowance
(e} Perquisites (iii) Canteen, uniform, accident relief
Code :
Options:
91394353813, (a)—(i), (b)—(ii), (e)—(iii)
91394353314 (a)—(ii), (b)—(iii), (e)~(i)

(a)—iii), (b)—(ii), (e)—(i)
91334353815,



(a)—(ii), (b)—(i), (e)—{iii)
913343538516,

Question Number : 104 Question Id : 91394313693 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

gt 1t w5l w1 et 11 wel & frema fifsrg sik e fon o e & & ot smowt 9

et 1 Tt
(a) grET (i) Pt Rl I, Foia S HEEId1, Hadq G,
HTo- T 5

(b) it fgaemy (i) efreimtaTse W, $ee W, fewe e
(c) st aferat (i) e, drames, gee Tad
E T8

Options:

(a)—(i), (b)—(ii), (e)—(iii)
91334353813,

(a)—(ii), (b)—(iii), (e)-(i)
912343538514,

(a)—iii), (b)—(ii), (e)—(i)
915943538515,

(a)—(ii), (b)—(i), (e)—(iii)
913342538516,

Question Number : 105 Question Id : 91394313694 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
“Everyone benefits when the focus is on common interest and promotion of harmony” is the
underlying assumption of which one of the following approaches to industrial relations ?
Options:

Unitary approach
91394253817, PP

Pluralistic approach
215394253815,

Marxist approach
91394353519,

Human Relations approach
91334353820,

Question Number : 105 Question Id : 91394313694 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



“Sa e wafse fn ofit wgwme it wgra 2 W wfza wtar @ 9t & Rt w6t s w7 siteifis
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Options:

TS Gieeehvl

B91334553817.

g g

2913394253818

T

912334553819

qTa Hay g

91334553820,

Question Number : 106 Question Id : 91394313695 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Choose the correct code for the following statements being correct or incorrect.
Statement I : Thousands of employees die everyday in factories due to accidents.
Statement Il : To make an accident-free plant adds to cost and decreases productivity.
Code:

Options:

9139435531 Doth the statements I and IT are correct.

41394353827 Both the statements I and II are incorrect.

Statement I is correct, but 11 is incorrect.
91594252823,

Statement II is correct, but I is incorrect.
Q1594252824

Question Number : 106 Question 1d : 91394313695 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Freferfiaa ot & @t @ e &9 % oo o wdt g = Twm fifor |
o] : FrEE q gHenAl fit aor 8 wfafe gl s w2
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Options:

F9a 1 3 11 I
91394353821, i w8



e 1 3 11 7erd & |
91394353822, L g

w1 1 Od B, 9eq 11 7Teid & |
91394353823,

FY 110 ], 9g [7Terd 2 |
91394353824,

Question Number : 107 Question Id : 91394313696 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following is not the fund based business of commercial banks ?

Options:

Overdraft facility
215394253825,

913945353526, Issuance of Letters of Credit

Acceptance of deposits
Q1394353 E27. P post

91394353528, RTGS/NEFT transactions

Question Number : 107 Question 1d : 91394313696 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Frafeafas & & s-an aififeas d=t +1 Sv-amafa sgaomm a8 8 2

Options:

Ffafard gfaa
91394353825,

91394353826, wra-

91334553827, st 1

CARE IR Lo R B 8
91394353828, LT a

Question Number : 108 Question Id : 91394313697 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the items of List [ with the items of List II and choose the correct answer from the
code given below.

List I List IT
(a) NPA (i) The percentage of deposits to be kept with RBI
in the form of cash.
(b) SLR (ii) The rate at which RBI lends money to
commercial banks.
(c) Repo Rate (iii) Loans and advances not paid for more than
90 days.
(d) CRR (iv) The percentage of net demand and time
liabilities to be kept in the form of liquid assets.
Code :
Options:
(a)(iii), (b)—(iv), (e)-i), (d)—(ii)
91394353829,
(a)—(iii), (biiv), (e)ii), (d)—(i)
21394253830,
(a)—(ii), (b)—(iii), (e)~(iv), (d)—(i)
915943535351,
(a)-iii), (b)id), (e)-{iv), (d)—~1)
91394353832,

Question Number : 108 Question Id : 91394313697 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
gt 1t wgl o1 gt 11t wgl & frema ifore oft = feg o e & & w1t 3w =t 9fiw |
g1 T I
(a) WL, (i) S w98 ufeee S e, ¥ T % w9 H @ I g |
(b) TH.UA. R, (i) 98 g Forg v s omd, anforfoos def &t o9 qum &t 2
(e) Tt 5T (iii) T 1 v srfim foreg 90 & s fodt & =df g mn & |
(d) Hhamam. (iv) I ¥ vd ang gt & g woe Bf we et Seedmm e 2
% :
Options:

(a)—(iii), (b)—~(iv), (e)—i), (d)—(ii)
91394353829.

(a)(iii), (b)(iv), (e)(ii), (d)—(i)
913943538350.

(a)—(ii), (b)), (e)iv), (d)—(i)
91594353831,

(a)(iii), (b)(ii), (e)—(iv), (d)—(1)
913943538352,



Question Number : 109 Question Id : 91394313698 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
“Skimming” in e-banking is a method of

Options:

converting Debit Card into Credit Card.
91394353833,

transferring cash from one account to another account.
21394253834,

stealing credit card information.
91394353535,

intimating the customer about his heavy withdrawals.
91394353836,

Question Number : 109 Question Id : 91394313698 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

$dfehn § “fenfim” ue wet fafy 8, fored
Options:
sfee #rd it wfse wrd # wfafda fram s @
91394353833,

TG I T Wi ° g @rd | FHafa forn S |

91394353834,
91394353835, IS2 I T 1 <4 A & 1

UTgeh &I IRt arcafush g-Freerdt & amt & gfea fen s 2
91394353836,

Question Number : 110 Question Id : 91394313699 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
When RBI reduces CRR, it results into

Options:
91394353537 nerease in lendable resources
91394353555 Decrease in lendable resources

Decrease in deposits
Q139425253 9, Post



Increase in deposits
91394353540, post

Question Number : 110 Question Id : 91394313699 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
wa AL TS, ot S, d et et ® 9 gEew wHTa g 8

Options:

FO1 & A HareEl & afg
91394353837

0T 2 A1 HETgET | wHt
91394353838,

91334553829, st # <t

St |
91394353840 7

Question Number : 111 Question Id : 91394313700 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Banking Ombudsman Scheme was introduced by RBI with effect from

Options:

913345535841, 1998

_
91394353842, 1990

91334553843, 2001

.
91394353844 2000

Question Number : 111 Question Id : 91394313700 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

. o, g S SRare Jre IE it g ot
Options:
91394353841, 08 8

.
91394353842 1995



9153342538435, 2001

913345535844, 2005 3

Question Number : 112 Question Id : 91394313701 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Banks are required to classify Non-Performing Assets into

Options:

Sub-standard aszsets, doubtful assets, and loss azsets
Q1294352545

Standard assets, and sub-standard assets
Q1594252846

Doubtful assets, and bad debts
Q1594352847

Doubtful assets, bad debts and losz assets
913942355848,

Question Number : 112 Question Id : 91394313701 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

di % fore sruférs & ff 3 T-Freures oeaferet <6t Freafaftaa ° affea fifsw
Options:
e wafoal, wfew dafoat, o g g8 dafai
21394253545,

91394353846,

91394353847,

ey wafoal, smer s oft gaft 8 aafeaf
91394353848,

Question Number : 113 Question Id ;: 91394313702 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following is not the function of the Reserve Bank of
India ?

Options:

91394353849, 1ooue of Banknotes



Custodian of Cash Reserves of Commercial Banks

Q1294253850

Accepting deposits and advancing loans to public
Q1=2942E=2851. PURE Cepost g P
9139435385, Controller of credit

Question Number : 113 Question Id : 91394313702 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fr=fefiaa & & S-a1 wiedty fod o = v 78 2 2
Options:

91334553849, et =

01304355550 TOTouH dai & T Wl 1 siftraor
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91394353851

B91334553852. o

Question Number : 114 Question Id : 91394313703 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The theory suggesting that the patterns of international trade are determined by factor
endowment rather than productivity was propounded by which one of the following ?
Options:

91394353853, ‘rdam Smith

91394353854, D2avid Ricardo

9139435355, Heckscher and Bertil Ohlin

91394353856, Michael Porter

Question Number : 114 Question Id : 91394313703 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

frfafaa & & s 30 fagra + wfares 8 foad e mn 2 6 st samn 6 sfimean &t
et “Sgtass’ sne 4 781, afcs sUCHETI FAF A w1 R 7

Options:



B91334553853.

91334553854,

T a1 wide HifeT

H1334553855.

HTghe 91

H912334553856.

Question Number : 115 Question Id : 91394313704 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Matech the items of List I with the items of List II and choose the correct answer from the
code given below.

List I List IT
(a) Balance of trade (i) Imports and exports of goods and services and unilateral
transfer of goods and services
(b) Current account (ii) Transactions leading to changes in the financial assets and
liabilities of a country

(c) Balance of payments (iii) All economic transactions between a country’s residents and
residents of other countries

(d) Capital aceount (iv) Value of exports and imports of a country
Code :
Options:
(a)—iv), (b)), (e)—(iii), (d)—(ii)
91394353857,
(a)—(iii), (b)—(ii), (e)iv), (d)—(D)
91394253858,
(a)—(i), (b)—(ii), (e)-(iii), (d)—(iv)
915943535549,
(a)—iv), (b)—(iii), (e)—ii), (d)—(i)
91394353860,

Question Number : 115 Question Id : 91394313704 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



gt 1t wgl 1 g 11t wgl & frem Aifsre oit A= feg e e 9 & ot 3wt =t gfiw
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Hhe:

Options:

(a)—(iv), (b)—(i), (e)(iii), (d)(ii)
91394353857,

(a)—(iii), (b)—(ii), (e)—(iv), (d)—(i)
91394353858,

(a)—(i), (b)—(ii), (e)—(iii), (d)—iv)
91534353859,

(a)—iv), (b)—(iii), (e)~(id), (d)—(1)
915394353860,

Question Number : 116 Question Id : 91394313705 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following are included in the international liquidity ? Indicate the correct code.
(iy Foreign exchange reserve
(iiy Borrowing capacity of the various countries
(iii) Gold reserves

Choose the correct answer from the code given below :

Code :
Options:
i) and (ii
91394253861, W w

91394353880, () and (i)

9139435383, D and (i)

(i), (i) and (iii)
H1334553864.

Question Number : 116 Question Id : 91394313705 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Freafafia d @ ffd smisdia aeaan & wfire fomen o 2 2 wdt 552 9w

(i) ﬁ%‘é’ﬁ'ﬂﬁ' WEN
(i) Tafer < < sam & 6 e
(i) 'FEWE w
Hre feu o g # © wdt I w g
% :
Options:
() 3 (i)
91394353861
(i) 3 (iid)
91394353862,
(i) 37 (iii)
91394353863,

(1), (i) 37 (iii)
91394353864,

Question Number : 117 Question Id : 91394313706 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Bretton Woods Conference resulted into the establishment of which of the following ?

Options:

91394353865, \MF and IDA

91394353866, 1DRD and IFC

91394353867, DA and ADB

91394353865, MF and IBRD

Question Number : 117 Question 1d : 91394313706 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

T 38 aeH & Horeaey Frafafaa & @ feeadht v g8 ot 2

Options:

.U, 3 amE.E
91394353865, LS. 3 T AT



91394353866, At S, Sl e o 4

91394353867, ARG SR A,

91394353868, TS T.T%. 3T e . o &

Question Number : 118 Question Id : 91394313707 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which one of the following is not the basic function of WTO ?

Options:

To facilitate the implementation, administration and operation of trade agreements
91394253563,

To settle differences and disputes among its member countries
91394353870,

To facilitate the expansion and balanced growth of international trade
91394353871,

To carry out periodic reviews of the trade policies of its member countries
Q1394352872 pe po

Question Number : 118 Question Id : 91394313707 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Freafeafiaa 4 o s s @90, =1 gongm wf 78 2 2
Options:

SATIR Gl & Hrai-a9-, FrE 797 TEreE S g wE
91394353869

T GeE 29 & e qavgl a1 faamg) S e

91334353870,

Feaiisdta saman % faeam qun dqfera fawm =t
91394353871 o i

91394353872, T TEE Qi bt ST fife 6 st whan w0

Question Number : 119 Question Id : 91394313708 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

‘Finance for exporting companies’ as part of major programmes of the Exim Bank of India
does not include

Options:



Working capital
91394353873,

Post-shipment credit
91334353874,

51394353875, Overseas investment finance

91394353876, Lerm loans

Question Number : 119 Question Id : 91394313708 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Freafafiga o & fraet offan & aife sfem % vy wefea & o wm & w9 8§ Frafasrd wafei 2
fow’ =t wfifoa 78 fem s 2 2

Options:

Frfefrer geft
91394353873,

HTe &leA o =T o
91394353874, Rl

fageft Fram fam
91394353875,

firardt =
H1334553876.

Question Number : 120 Question Id : 91394313709 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following is the main government agency responsible for development and
monitoring international trade in India ?

Options:

Indian Institute of Foreign Trade
91394353877,

Federation of Indian Export Organisations
21394353878,

Department of Commerce
215394253879,

Export Promotion Council
91394353850

Question Number : 120 Question Id : 91394313709 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Freafafiga # & 9z F-tf yya g wiedt @ St wia 3 sl s % fawm o frod
feru Fwrgrft 2 2

Options:

g fagsft samm geae
91394353877,

2153394253875, *

91334553879,

frafa wadf afteg
91394353880,

Question Number : 121 Question Id : 91394313710 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match the items of List [ with the items of List II and choose the correct answer from the
code given below.

List I List IT
(a) AS-1 (i) Accounting for fixed assets
(b) AS -3 (ii) Disclosure of accounting policies
(e) AS-10 (iii) Leases and its accounting
(d) AS-19 (iv) Cash flow statements
Code :

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

(a)—(iii), (b)—(iv), (e)—(il), (d)—(i)
91334353881,

(a)—(i), (b)—ii), (e)—(iii), (d)iv)
91534353882,

(a)-iii), (b)—(ii), (e)—(i), (d)—iv)
91594353883,

(a)—(iii), (b)—(1), (e)—iv), (d)—(ii)
913342535584,

Question Number : 121 Question Id : 91394313710 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



gt 1t wgl 1 g 11t wgl & frem Aifsre oit A= feg e e 9 & ot 3wt =t gfiw
gl | 1T
(a) TEE. -1 (i) et weafert w1 e
(b) WUH. -3 (ii) @i fiferi 1 wehe
(c) QUA. —10 (i) offs 3t 39 erara
(d) ©.ud. — 19 (iv)  Us varg faawm
ETE
Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all

candidates.
Options:

(a)(iii), (b)(iv), (e)(ii), (d)—(i)
91394353881.

(a)(i), (b)—(ii), (e)—(iii), (d)-iv)
91594353582,

(a)—(iii), (b)—(ii), (e)—(i), (d)—iv)
91394353883,

(a)—{iii), (b)—(1), (e)—{iv), (d)—(ii)
91394353554.

Question Number : 122 Question Id : 91394313711 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following statements is/are true 7

(i) Tax-shield on depreciation and interest is an important variable both for the lessor and
the lessee.

(iiy Lease transactions in India are governed by the Lease Act.
(iii) A lessee should evaluate the lease options against the buying option.
(iv) As per AS — 19, financial lease is shown in the balance sheet of the lessee as an asset.

Choose the correct answer from the code given below :

Code :
Options:
(1) and (iv)
91942353885,

(1), (iii) and (iv)
21594253886,

(ii), (iii) and (iv)
A1 294252887,

Only (ii)
91394353838



Question Number : 122 Question Id : 91394313711 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
freafafgs 4 & shma s ad 22 2
() BT STt ST T IR F-gTE gl S T Sl % oy T devge wewh @ |
(iiy WA # 92 dadt §9-39 ofta srfufrm g wfta B 8
(iii) TETET i g1 Tashedt w1 HeareA s faeedt % Ander ® s =l |
(iv) BT, — 19 % Ian faefta ot =+t ggrames % anffs fag & g & w9 @ wgiifa fem st 2 )
Hr= fw o e # @ ot I+ g

He:
Options:

(i) 31T (iv)
91394353885,

(1), (iii) M (iv)
91394353856,

(ii), (iii) 3 (iv)
91394353887,

e (ii)
91394353888,

Question Number : 123 Question Id : 91394313712 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following statements is correct ?

Options:

SEBI has been constituted under the Securities (Contract and Regulation) Act, 1956.
215394253889,

SEBI is constituted from amongst the directors of various stock exchanges.
91334253530.

The purpose of issuing different types of rules and regulations by SEBI is to bring monetary

gains to investors.
91394353591,

One of the objectives of setting up SEBI is to protect the interests of investors.
913942353592,

Question Number : 123 Question 1d : 91394313712 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
frefafas d @ Frm s @ 8 2

Options:



Heft o1 e wfeyfa (dfag wa faf) sifufem, 1966 % stata e mn
91394353889.

91394353890, &aft 1 e fafirm e it % ot & @ foran man 2 |

#aft g fafvm wer o Frat va fafaat =t sl &+ 01 32w fafraitarant =t ifes wragr wamn 2
91394353891,

91394353892, Fell it T F F et A A wh e fafrant  fedt A wen @

Question Number : 124 Question 1d : 91394313713 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Merger of two companies under the Board for Industrial and Financial Reconstruction
(BIFR) supervision is known as

Options:

Reverse merger
H1334553893.

Negotiated merger
Al 2942E2894 8 '8

91394353895, Cmer for sale

Arranged merger
A1=29425389E. 8 '8

Question Number : 124 Question Id : 91394313713 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

iterifires oftt fareftar qafiwto &t (. omd uw. o) & wddem & sfafa o st & faes #t fea
F9 H HH AR ?
Options:

B1334553893.

H13345538594.

fasra = fom w=me
91394353895,

H1334553896.

Question Number : 125 Question Id : 91394313714 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Choose the correct code for the following statements being correct or incorrect.

Statement I :  An option which gives its holder the privilege of selling to other party a fixed
amount of some stock at a stated price on or before a predetermined date is
known as call option.

Statement Il : In an option, the holder has the privilege of purchasing from other party a
fixed amount of some stock at a stated price on or before a predetermined
date iz known as put option.

Code :
Options:

91394353897 Both the statements I and II are correct.

91394353305 Doth the statements I and IT are incorrect.

Statement I is correct, but 11 is incorrect.
Q15943525899

Statement II is correct, but I is incorrect.
913942352900,

Question Number : 125 Question Id : 91394313714 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Freafefiga et & ot @ e 219 & e # wdt g2 1 w9 Hifomg |
71 : U e faed s ars o fovfa 6 BT e g on B s e Wuw
Fraffe fafy =t @ 3% veat s 0t 1 Tadmfusn wem e @ 38 e sifoem e s
21
97 11 : o it faedd 3o avs v wfefa 6 Bifvea wen =t gt v @ o o e mo
Fraffe fafy =t o 308 e F1 F6 F ewfier @ Fa @ 9@ g sifam wa
ST R |

H:

Options:

& 1 3R 11 I
91394353897 L w0 g

& 13 11 T & |
91394353898, a g

w1 T8t &, 9eq 11 7Teiel & |
91394353899.

FUA 11 T8 7, 9g [ 7Teid & |
91394353900.

Question Number : 126 Question Id : 91394313715 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Choose the correct code for the following statements being correct or incorrect.

Statement I : When the two securities returns are perfectly positively correlated, the risk
of their portfolio is just a weighted average of the individual risks of the

securities. In such case, diversification does not provide risk reduction but
only risk averaging.

Statement II : Total risk of a portfolio of two risk securities can be completely eliminated
when their returns are perfectly negatively correlated and their
proportionate holdings in the portfolio are inversely related to the
relative individual risks of the securities.

Code:
Options:

91394353901 Both the statements I and II are correct.

91394353907 Both the statements I and II are incorrect.

Statement I is correct, but 11 is incorrect.
Q1594252903

Statement II is correct, but I is incorrect.
Q1594252904

Question Number : 126 Question Id : 91394313715 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Frferfiga ot & wdt @ e 79 % e # wdt g2 w1 =9 fifem |

[ e gt sfesfoe o e qeqiaan geTere el g a9 3 srenifert s =
syt &t st 6 safvera Siftaat &0 wifta aren g 2 | Wl g § fafafiem
# Sifign & et el gt § T Sifant o st ien g g |

T 11 - 5t Sitfawt areft sfosferat & o= adwifot 6t o sifan qfaar gare 8 awdt @ 56 3736
eI 1 TegUl g Traey ROTeneh 8 vy 39 wfavfa & aidwifert gumem %
T (379) IRt wriférn safera sifaat @ faetm w9 @ e &t )

®e:
Options:

& 1 3 11 |
91394353901 a ¢

o [ 3T 1T B
913943533902, L g

w1 1 Od B, 9eq 11 7Teid & |
91394353903,

FY 110 ], 9g [7Terd 2 |
91394353304,

Question Number : 127 Question Id : 91394313716 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Which among the following is not included in seven Ps of marketing mix given by Booms
and Bitner 7

Options:

91394353905, rocess

People
913943533906,

Physical Evidence
91334353307,

91394353908, 1 Cltes

Question Number : 127 Question Id : 91394313716 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Freafefiaa 4 & =7 g9 oift faest gro same o arhfEn fram & g . & afefaa a8 2 2
Options:

2915334253305,

B123345533906.

frsftena ufada
91394353907,

913345533908,

Question Number : 128 Question 1d : 91394313717 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the items of List I with the items of List IT and choose the correct answer from the
code given below.

List I List I1
(a) The economy was characterised by (i) Mass marketing

small regional suppliers who sold
goods on a loeal basis

(b) Standardised, branded goods were (ii)] Hyper-segmentation
sold at national level

(¢) Era of market differentiation based (iii) Segmentation
on demographic, socio-economic and
life style factors

(d) Technological advancements, (iv) Fragmentation
especially in the area of digital
communication, allow marketers to
communicate with individual
consumers or very small groups

Code :
Options:

(a)—(i), (b)—(iv), (e)—(ii), (d)—{(iii)
913943533909,

(a)—{iv), (b)—(1), (e)—{iii), (d)—(ii)
91394353310

(a)—{iv), (b)—(1), (e)—{ii), (d)—{iii)
91394353911,

(a)—(i), (b)—(ii), (e)—(iii), (d)—(iv)
91394353912,

Question Number : 128 Question Id : 91394313717 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
gt 16t wel %1 g 11 agl & fiyem Aifie ok e fo o e 8 @ wdt 3w g9
g1 Tt 11
(a) efoqaedt UH BB aftg smyfiswaladi gro () amfes faom

Ffvafara gt off St aegad + vl smam W
fersra et &

(b) HThI, siee aeqad & Usfta T w faer i) srfe-fwfeeo
o s o

(¢) TaHIETHE, amrfas-anfifs st sfaa-de (iii) Terwifererm
et T s s fades %1 gk

(d) drerfirfrr wfet 3, fadme fasfes g=m % &9 (iv) s
#, famoratatt % fon srem-swem amest
eI~ BIC THEN o W19 TEEU FEAT HHE FH>T
2

% :

Options:



(a)—(1), (bi—(iv), (e)—{ii), (d)—(iii)
912343533909,

(a)iv), (b)—(1), (e)-{iid), (d)—(ii)
91394353910,

(a)iv), (b)—(i), (e)—(ii), (d)—(iii)
912334553911,

(a)—(i), (b)—(ii), (e)—(iii), (d)—(iv)
91334353912,

Question Number : 129 Question Id : 91394313718 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which among the following is not an internal factor of pricing decision ?
Options:

Price elasticity as per sales of product
Q13942523913 ty aspe P

Consumer's ex tion from company by past pricin
91394353914, pecta pany by past pricing

Position of product in product eycle
91394353915,

Consumer behaviour for given product
291394253916,

Question Number : 129 Question Id : 91394313718 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Freafafiaa 4 @ s-m geam Fola 1 v sl 0 78 8 2
Options:

913345353913, 3 o IE!IEﬁE

e £ Hegt o I9NteRT <t a1
91394353914, T S T S SRR M

Ieare = | Iearg 1 feuf
91394353915,

Fo9g o fofu SuvienT =1 s9aER
91394353916, e fere

Question Number : 130 Question Id : 91394313719 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Advertising method in which a commercial is broadcast simultaneously on several radio
stations and/or television channels is known as

Options:

91394353917, Exclusive drive
9139435391g, 1htensified campaign
91304353919, 1oad side
913943530920, 1 oad block

Question Number : 130 Question Id : 91394313719 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

fergmras worreft Faad samarfen fasmem wwamy srss tfem w2t sty Sefifasm et o yarfa femn
ST 7, 3 FEd @

Options:

91394353917, S AR
91394353918, e ST
91394353919, U5 W
91394353920, T =i

Question Number : 131 Question Id : 91394313720 Question Type: MCQ Option Shuffling : Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Choose the correct code for the following statements being correct or incorrect.

Statement I : A well-chosen marketing channel must be aligned to company’s marketing
strategy with respect to segmentation, targeting and positioning.

Statement Il : Marketing channels are set of interdependent organizations participating in
the process of making the product available for the use of consumption.

Code :
Options:
91394353921 Both the statements I and II are correct.

91394353922, Both the statements I and II are incorrect.

Yes



Statement I is correct, but 11 is incorrect.
Q15942353923

Statement II is correct, but I is incorrect.
Q1594352924

Question Number : 131 Question 1d : 91394313720 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

fr=fIfiaa oMl < 98 2 Terd 24 < ged U |al % F1 934 hifae |

FyT I - Ush sT=dl aia 94 g fauvE (Hrshfdn) =SHd w1 @i, asg-fHyi
311 feafa-faio % ded d sl 1 faqum &It & @1y sev =g
§ wifiga #mn =nfae |

Fy7 I1:  TaIvm <9 Iedrg &1 I99FT o 39FM & el Iqereq o =l afsen o
Pl o 91l S W31 & Jy=y w8

ET
Options:

F 1 311 I
91394353921 3w 8

Fya 1 3 11 21 e 7 |
91394353922, it g

®Y 1 T8 8, 9o 11 7Ter 2 |
91394353923,

w110t 8, wtg [ 7ol & |
91394353924,

Question Number : 132 Question 1d : 91394313721 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Databases assist in market segmentation, especially behavioural
segmentation such as developing loyalty segments.

HReason (R): Customer Relationship Management (CRM) databases have become an asset
for the analysis of customer behaviour.

Code :
Options:

Both (A) and (R) are correct and (R) is the right explanation of (A).
91394353925,

Both (A) and (R) are correct but (R) is not the right explanation of (A).
213942353926,

Both (A) and (R) are incorrect.
Q1=294=25=3927.



(A) is correct but (R) is not correct.
A1 394252928,

Question Number : 132 Question 1d : 91394313721 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
A 3t o fo e 8, Fd @ o afireem (A) R o gn 9% (R) ® | e =t afen ol e fer e
e &1 T4 F T I g |
YT (A) : ST Srar G, fasmest saagrTa @t 99 Fegam g2t #t dan e, §
HEA] TEeTd § |
@ (R) : TTeeh Gay Yaue (Ht A0 10.) Sy UTes sqasr o faveror # & fore w awafw
TAME |

®:
Options:

(A) 3 (R) 9T (R), (A) 1 T8t =grean 2 |
91394353925, g = b

(A) 3R (R) 3T @t €, =g (R), (A) 1 Gt samean 7 2 |
91394353926,

(A) 3 (R TeAd & |
91394353927, } ) g

(A) T 2, 7 (R) Teid 2 |
91394353928,

Question Number : 133 Question 1d : 91394313722 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which one of the following initiatives is not the strategy for managing shortage of
employees in an organisation ?

Options:

Attempt to reduce turnover
21594253929,

Offer incentives to postpone retirement
912942524930, po

Hire tempor employvees
913942524931, porary ploy

Employee trainin
Q1394353932 ploy 8

Question Number : 133 Question Id : 91394313722 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Frefefiga & & -t vge v wre | =t 6 w6f w5 guren F sy T8 22
Options:

2153394253929, & bk

Harfrafa =t wuafira o % fog vt 1 v
41384353930, e A

91334553921, o

912334553932,

Question Number : 134 Question Id ;: 91394313723 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Mateh the items of List [ with the items of List II and choose the correct answer from the
code given below.

List I List IT
(a) Job context (i) Procedures used
(b) Job-related tangibles and (ii) Work schedule
intangibles
(e) Work activities (iii) Work standards
(d) Work performance (iv) Services rendered
Code :
Options:
(a)—(iii), (b)—(iv), (e)ii), (d)—(i)
91394355935,
(a)—(ii), (b)—(iv), (e}—(1), (d)—(iii)
91394353934,
(a)—iv), (b)—(iii), (e)—i), (d)—(ii)
913942353935,
(a)—(i), (b)—(iv), (e)(ii), (d)—(iii)
21394253936,

Question Number : 134 Question Id : 91394313723 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



gt 1t wgl 1 g 11t wgl & frem Aifsre oit A= feg e e 9 & ot 3wt =t gfiw

et 1 et 11
(a) % Tgd (i) vy wrifafeat
(b) e gafea g vd avqd (i) S g
() s nifafeafimt (iii) = AT
(d) =l Fearga (iv) Wed Hard
ETE
Options:
(a)—iii), (b)—(iv), (e)—(ii), (d)—(i)
91394353933
(a)—ii), (b)—(iv), (e)~(i), (d)—(iii)
913943253934,
(a)—~(iv), (b)—(iii), (e)(i), (d)—(ii)
91394353935,
(a)—(i), (b)—(iv), (e)—(ii), (d)—(iii)
91394353936,

Question Number : 135 Question Id : 91394313724 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following is not an advantage of external recruitment ?

Options:

Good performance is rewarded
91394353937,

Scope for resentment, jealousies and heartburn are avoided
291394253938,

Compliance with reservation policy becomes e
Q1=294=2E=929, P poley asy

Benefits of new skills, new talents and new experiences to organisations are available
91394353940

Question Number : 135 Question 1d : 91394313724 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Frefefiaa & & sa-an ame wedl & v g 787 2 2
Options:

e Fr-Fearea it gk fe s
91394353937 b

g (%), W ud Feat ) wTE @ = A 2
91394353938,



e A =1 I e JEE B A
91394353939, i @ ¢

el i A Hiwe, 78 wamad i v svEl % s fied @
941394353940,

Question Number : 136 Question Id : 91394313725 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Training aids in encouraging and achieving self-development and
self-confidence.

Reason (R) - 1t helps a person handle stress, tension, frustration and conflict.
Code:

Options:

Both (A) and (R) are correct and (R) is the right explanation of (A).
215394253941,

Both (A) and (R) are correct but (R) is not the right explanation of (A).
91594353542

Both (A) and (R) are incorrect.
Q1394353943

(A) is correct but (R) is not correct.
Q1294252944

Question Number : 136 Question Id : 91394313725 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

= 31w feu o 8, o @ us arfirsem (A) 2 3t gEn @ (R) B | sl i afey ot = fag g
Fe I TEM F A I g |
stfirer (A) - wfirem sren-fasma it srer-fasma =t wgran 39 oft 378 W 0 | Weg Tl R |

TH(R) :  ¥8 Uk oAfh i gaTa, 9906, Fa1 AR Adeg H HHEH | HGg TEa 2 |

E:
Options:
(A) 3 (R) 9T (R), (A) i T8t =amEar g |
91394353941 T T e t
(A) 3 (R) g1 @dt §, 9=q (R), (A) A adt sqren 78 2 |
91394353942,

A) F (R TAd & |
91394353943, @ 3 ®) T g



(A) T& &, T (R) Terd & |
91394353944,

Question Number : 137 Question 1d : 91394313726 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

For performance assessment of employees, “helping to meet legal requirements” is the
application of which one of the following 7

Options:

91394353945, Developmental purpose
1394353946, " Aministrative purpose
91394353947 Organisational maintenance purpose
41394353948, Documentation purpose

Question Number : 137 Question Id : 91394313726 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

=TT % Hr-feargd stehe & fo, “fafiss savasar it g %0 § g s Frefafaa 4
# foheraht st & 7

Options:

ferepramenss 2
91394353945,

BRICIEC Rl
91394353946

HiTeATe® AT 7
91394353947,

TerEd 2
91394353948,

Question Number : 138 Question Id : 91394313727 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In which one of the following forms of worker's participation in management is the role of
the workers council not just advisory but the management is under a moral obligation to
acknowledge, accept and implement the unanimous decision of the council ?

Options:

Consultative Participation
291394253949,



Associative Participation
913943533950,

Administrative Participation
913942353951,

Decisive Participation
91334553952,

Question Number : 138 Question Id : 91394313727 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

yauA # sl it gewifirar % Feafafas @ o w8 smem ofteg F yfiew 3 Faa gemeen
wey i gt § afcen e oftag % geamm fvla 6t sfiediea, sfaodia it frafea e 6
Aferer s % sf A B 2

Options:

QIS TRt

912334553949,

gear! gevTiEa

2912334553950,

werrEf gawTiar

91334553951,

Frorfaes wrawfiran

91334553952,

Question Number : 139 Question 1d : 91394313728 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Matech the items of List [ with the items of List II and choose the correct answer from the
code given below.

List I List IT
{a) Direct investment overseas aimed (i) Inward FDI

at manufacturing products not

manufactured by the firm in the
home country.

(b) Direct investment in a foreign (ii) Backward Vertical FDI
country aimed to sell the output of
the firm’s domestic production.

(¢) Direct investment overseas aimed (iii) Conglomerate FDI
at providing inputs for the firms
production process in the home

country.
(d) Foreign firms investing overseas  (iv) Forward Vertical FDI

and taking control over foreign
assets.

Code :

Options:



(a)—{iv), (b)—(iii), (e)—(id), (d)~1)
91394353953,

(a)—{i), (b)—(iv), (e)—{ii), (d)—{iii)
91394353954,

(a)iii), (b)—(iv), (e)ii), (d)—(i)
91394353955,

(a)—(iii), (b)—(ii), (e)—(i), (d)—iv)
91394353956,

Question Number : 139 Question Id : 91394313728 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
gt 1t wgl 1 gt 11t wgl & frem Ao oit fi= feg e g2 9 & ot 3w =t gfie
el 1 g
(a) % 0 3 IUTG] Forent IeUGA A (1) oTTE U2

&9 H 9 T W@ & % I F T
# foat & s fdwn |

(b) HH g 3794 Tle] JeUTEA H AN B (i) 99 et wh.ghamd,
fergw & wear foramn |

(c) Tagw ® wd I Ieurga whkan &g avma (i) @vfes v e
g F4 % 3evd © fagwl # wewe
fam

(d) fegw & Frem s areft aan faeah (iv) Wiae Fearat 06, g1, .
et w e o aret s vt )

B
Options:

(a)—(iv), (b)—(iii), (e)-ii), (d)—(i)
91394353953,

(a)—{i), (b)—(iv), (e)—{ii), (d)—{iii)
91394353954,

(a)—(iii), (b)(iv), (e)(ii), (d)—(i)
91394353955,

(a)(iii), (b)(ii), (e)-(i), (d)iv)
91394353956,

Question Number : 140 Question Id : 91394313729 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) - The multilateral trading system is an attempt by governments to make the
business environment stable and predictable.

Reason (R) - Promising not to raise trade barriers can be as important as lowering one,
because the promise gives businesses a clearer view of their future
market opportunities.

Code :
Options:

Both (A) and (R) are correct and (R) is the right explanation of (A).
91394353957,

Both (A) and (R) are correct but (R) is not the right explanation of (A).
215394253958,

Both (A) and (R) are incorrect.
Q]394 2E2959,

(A) is correct but (R) is incorrect.
Q13943253960

Question Number : 140 Question Id : 91394313729 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
A= 3 A fog e B, Fd & o i (A) 8 offtgaa a6 (R) @ | AT it afen i A= feg g
¢ 1 AT HHE I g |
ifierer (A) : TEIE ST YoTef WO grn saTaaTtie watatn i e g qatgeedt e w5
ITE B |

T (R) : SYTIR A1 i GG F T A1 I91 & Hawwqy) 8 Fraen 3F W e, w6 @
T U AU I AT HTE AHAR T T Feron el 2 |

He:
Options:

(A) 3 (R) 9T (R), (A) 1 Tt =arean # |
91394353957, = § w &

(A) 3 (R) 391 9t €, 70 (R), (A) 1 9t samem T R |
91394353958,

A) (R Teld & |
91394353959, @) 3R (R A g

(A) Tt B, (R) Tefd & |
91394353960, A

Question Number : 141 Question Id : 91394313730 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Who among the following is net an observer country of the SAARC ?



Options:
91394353961, ran

91394353962, Cpina

91334553963, Usa

91394353064 LC2nada

Question Number : 141 Question Id : 91394313730 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Freferfaa & & @9 G’ o1 v 2o 78 & 2
Options:

P

2915394253961,

91334553962, h

q.UH.T,
Q1294353963

B1334553964.

Question Number : 142 Question Id ;: 91394313731 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Foreign investment can be made through which of the following routes ?
(iy Foreign Direct Investment (FDI)
(iiy Foreign Portfolio Investment (FPI)
(iiiy Private Equity Investment (PEI)

(iv) Foreign Venture Capital Investors (FVCI)

Choose the correct answer from the code given below :

Code :
Options:

(1), (11}, (1ii) and (iv)
91334553965,

(i) and (iv)
A1=2942E=298E,



(i), (ii) and (iv)
91334553967,

(1), (iii) and (iv)
91334553968,

Question Number : 142 Question 1d : 91394313731 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
frferfaa # & fe st 6 gro faceht e o s e 2 2
iy Toceht wers few (uw.dtamd.)
iy ot aidwifat e (o e,
(i Freft wme Fdw (dh £.amd)
(iv) Toeeh s it Fdws (v dh.4ft. o)

3 fow e g # @ S A 9
C T

Options:

(i), (iD), (iii) 3T (iv)
91394353965,

(i) 3 (iv)
91394353966,

(1), (i) 31 (iv)
91394353967,

(), (iii) 31 (iv)
91394353968,

Question Number : 143 Question 1d : 91394313732 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Choose the correct code for the following statements being correct or incorrect.

Statement I : Intellectual Property (IP) is a category of property that includes intangible
creations of the human intellect.

Statement Il : IPR does not include trade secrets and moral rights.

Code :
Options:
91394353969, Both the statements I and II are correct.

91394353970, Both the statements I and II are incorrect.

Statement I is correct, but II is incorrect.
Q1294252971



Statement II is correct, but I is incorrect.
Q159423532972

Question Number : 143 Question Id : 91394313732 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frefafan sual & w8t @1 e B9 & dodl § wd g w1 9w Hifaw |
w1 difgsw gugn (smd.dt.) g 6t o aoft & Forad are 9fg 1 omqd gom w21
o 1 : 3. .o, # saran e aun Ao st e 6 2

®e:
Options:

FYA 1 3 11 |
91394353969, 3 8

FYA 1 3 11 Ted & |
91394353970 A g

w1 T8t &, 9eq 11 7Teiel & |
9139435367 1.

FUA 11 T8 7, 9g [ 7Teid & |
91394353972,

Question Number : 144 Question Id : 91394313733 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Choose the correct code for the following statements being correct or incorrect.

Statement I : FX Spot is an agreement between two parties to buy one currency against
selling another currency at an agreed price for settlement on the spot
date.

Statement II : The date of maturity of a forward contract is more than two business days in
future.

Code:
Options:

91394353973, Both the statements I and II are correct.

91394353974, Both the statements I and II are incorrect.

Statement I is correct, but 11 is incorrect.
Q1594252975

Statement II is correct, but I is incorrect.
Q1=29435397E,

Question Number : 144 Question Id : 91394313733 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Frrferfiaa St % ot @ e @9 % e | wd 52 w1 99 fifvw |
FUT [ : UE.UFE. TWie § 9E % Weq Uh Fei i g Fo 5ol | U dend qod T wie fafy
frwert % fore fom mm s 2

F97 I1 : vt wfag 1 aftgaaar 6 fofe wirss 4 & saaafies i @ sfas gt 8

He:
Options:

FyA 1 3 11 |
91394353973, 3w 8

Fye [ 3 11 91 Teid & |
91394353974, 3 g

w1 1 Od B, 9eq 11 7Teid & |
91394353975,

FY 110 ], 9g [7Terd 2 |
91394353976,

Question Number : 145 Question Id : 91394313734 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) - Among all methods of charging depreciation on fixed assets, diminishing
balance method is the best method.

Reason (R) - Diminishing balance method of charging depreciation has been permitted
under the Income Tax Act, 1961 for claiming deduction for depreciation.

Code :
Options:

Both (A) and (R) are correct and (R) is the correct explanation of (A).
215394253977,

Both (A) and (R) are correct but (R) is not the correct explanation of (A).
1594353978,

(A) is correct but (R) is not correct.
Q1394353979

(A) is incorrect but (R) is correct.
Q1294252980

Question Number : 145 Question Id : 91394313734 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Fr &t %o o o &, Fod @ o sfirspem (A) R o gmo 7% (R) ® 1 AT i fee affe e fg g
e 1 TEM FHE I g |
Sfirpe (A) : F=e wfEeafEl W s = e 6 gt fafeat 4 s g 9 fafa gatmm 2

% (R) : qeas™ & fou w2t #1 gran w0 % for s sfafam, 1961 % =i qegs™

= w0 % fore shmra g 9 fafs s 8

%
Options:
o1504553077 ) (R T & T (B), (A) H 7 A R

(A) 3ft (R) ST w#t €, 7g (R), (A) it Tt samean 78 & |
91394353978,

A ’ R) Terd 2 |
015943553079 T & WY (R) T R

A) T &, TG (R .
o15943553080, A T & Y R)TAR

Question Number : 146 Question Id : 91394313735 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Match the items of List I with the items of List II and choose the correct answer from the
code given below.

List I List 1T

(a) Compensation received by an employee from his (i) Exemption upto specified limit
employer on termination of job

(b) Penszion received by the widow of an employee (ii) Profits in lieu of salary

(e) Foreign allowance for rendering services abroad (iii) Income from other sources

(d) Children hostel allowance (iv) Fully exempt from tax
Code :
Options:
(a)-(iii), (hi~(iv), (e)-ii), (d)—(i)
91394353951,
(a)—ii), (b)—(iii), (e)—{iv), (d)—~1)
215394353982,
(a)—(ii), (b)—(iv), (e)—(iii), (d)—(i)
915943534955,
(a)(iv), (b)—(iii), (e)~(1), (d)—(ii)
91394353954,

Question Number : 146 Question Id : 91394313735 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



gt 1t wgl 1 g 11t wgl & frem Aifsre oit A= feg e e 9 & ot 3wt =t gfiw
gl g 1T

(a) Fwl F gmfta w feft bl &t o (i) Fifesa ot 0% s
e & s afergfef wfin

(b) fereft et <t forvan =6t s w0 (i) & % TIH TN
(c) fortw & S we@ 1 % forg wrea feaht s (i) o= @il & ot
(d) w=3t % ferm wmmarg s (iv) qofd:
E T8
Options:

(a)—iii), (b)~(iv), (e)~(id), (d)~(1)
91394353981.

(a)—(ii), (b)iii), (e)(iv), (d)—(i)
91394353982,

(a)(ii), (b)—iv), (e)(iii), (d)—(i)
91594353983,

(a)—(iv), (b)—(iii), (e)—(i), (d)—(ii)
91394353954,

Question Number : 147 Question Id : 91394313736 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Under Sec. 194 IB of the Income Tax Act, 1961 an individual or HUF (who is not required
to get his accounts audited u/s 44 AB) who is responsible for paying to a resident any rent,
shall deduct income tax, for the use of any land and building or both, if the rent exceeds

Options:

T 50,000 per month
Q1594252955

T 40,000 per month
Q1294353956

< 25,000 per month
215394253987,

T 15,000 per month
91334353988,

Question Number : 147 Question Id : 91394313736 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

a1 . sifufEm, 1961 90 194 1B % s=ata Rt =afes o1, waq us. (Rt umo 44 AB S
Frfe 3T Wit it 3R F ht et Td vedt ) ot et Frareht i F fer 3 % fae
It g €, 9 foedt siftr o wam o ST % i & forg s it A i =g fmrn s A

Options:



+ ¥ 50,000 %
91394353985, e & R

£ T 40,0008
91394353986, e 5 Fore

En F 250008
91394353987 e % fere

ED ¥ 15,000 %
91394353988, T I 3 fere

Question Number : 148 Question Id : 91394313737 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following is agricultural income under Income Tax Act ?

Options:

Income from the land used for storing agricultural produce.
291394253989,

Dividend from a com engaged in agriculture.
Q1=294=2E=990, pany engag

Income from dairy farm, poultry farm, ete.
Q1594252991 poultry

Income from the sale of replanted trees where denuded parts of the forest are replanted and

subsequent operations in fore. are carried out.
9]l 3a4252992, sed pe stry

Question Number : 148 Question 1d : 91394313737 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

g . sifufm & srofa Frefofas 4 @ st s ama 2 2
Options:

i a
91394353389, I 3e1e % erer % fore s e & |

Y wral # Her Fe @ W e |
91394353990,

ol &, St wrd, ety & e o |
91394353991,

e ST TTC e, el 99 % @relt S § 9 g9 wre e § o arg ft arfreh wriwem fee s

at, =t fasht & 9o =1 |
91394353992,



Question Number : 149 Question Id : 91394313738 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

On fulfilling certain conditions, for an undertaking set up in special economic zones,
deduction under section 10 AA of the Income Tax Act is allowed for

Options:

b years
913943539493,

10 years
215942539594,

15 years
91394353995,

Unlimited period
31394353996,

Question Number : 149 Question 1d : 91394313738 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TS WAl H T FA F a1 foret fasry anfefe sim A vonfa swen 6t s w0 srfafm & ama 10 AA
% ar=iia et 1 Eipla Bt

Options:
5a4
913943539973, fere
1099
91394353994, fere
1594
91394353995, ferg
aefifie arafy = fom
91394353996,

Question Number : 150 Question Id : 91394313739 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

(Given is the information related to a house :
Municipal Value (M.V.) < 1,50,000

Fair Rent  1,80,000
Standard Rent = 1,60,000
Actual Rent < 20,000 pm

Municipal tax paid by owner is 20% of M.V. Unrealised rent ¥ 40,000
(conditions of rule 4 satisfied). What is the annual value of the house ?

Options:



< 1,50,000
913343539397,

T 1,60,000
91334553995,

T 1,70,000
91334553999,

T 2,10,000
215334254000,

Question Number : 150 Question Id : 91394313739 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

U Yo H Halua Hefofga ge ol @
TdTerst gey (v.El.) # 1.50.000

3faa e F 1.80.000
o farran # 1.60.000
arfas fHmn F 20,000 9fd |rE

Yo Uifeteh gR1 PIaH foha 1 amgrfers &2 ug i, &1 20% 2 | a9 A fhan w0
fortrn & 40,000 (Fremm 4 61 wid gl &) | waa &1 arfies gea @& 2 2
Options:
% 1,50,000
91394353997,

T 1,60,000
91334553995,

T 1,70,000
H13345539945.

T 2,10,000
91334354000,



